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Question Number : 1 Question Id : 27522810600 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Eight friends P.Q.R.S.T,U.V, and W are sitting around a square table. Four of them are on corners while other four are
sitting in the middle of each side of the table. They are facing towards the center of the table. V is sitting between P and
Q. R is sitting immediate left of U who is sitting immediate left to S. T is sitting at 2nd left to U. P is sitting to the left of
Q and Q is sitting third to the right of U. Who is sitting at second to the left of S?

Options :

.¢ R

2. % T



3.V

4% Q

Question Number : 1 Question Id : 27522810600 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

.v R

Question Number : 2 Question Id : 27522810601 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



From among the given alternatives choose the figure that most closely represents the given relationships.
Some Cats are Boys
Some Boys are Bulls

All Boys are Good
Options :

Boys
Cats

Bulls
Good




[ —

Question Number : 2 Question Id : 27522810601 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :



e By
Cats

Bulls
Good




Question Number : 3 Question Id : 27522810602 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Two statements are given, followed by two conclusions numbered I, and II. Assuming the statements to be true, even if
they seem to be at variance with commonly known facts, decide which of the conclusions logically follow(s) from the
statements.

Statements:

All glasses are cups.

All cups are plates.
Conclusions:

I. Some plates are glasses.

II. Some plates are cups.
Options :



| only conclusion I follows
, % only conclusion IT follows

3 % neither I nor IT follows

4 « both conclusions I and II follow

Question Number : 3 Question Id : 27522810602 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 4 Question Id : 27522810603 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which letter cluster will replace the blank space in the following series.

VEYIT, WIBOY, XOEUD, ., ZAKEN

Options :
1. ® YUHIA

» « YUHAI
3 ® UYHEI

4 % YUAHI

Question Number : 4 Question Id : 27522810603 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafaf@a saer & Fla-wr de-gag Naa wuer & 9fd s
VEYIT, WIBOY, XOEUD, , ZAKEN

options:
| % YUHIA



>« YUHAI
s % UYHEI

4, = YUAH

Question Number : 5 Question Id : 27522810604 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
One word (written in capital letters) in the sentence below is jumbled up. From among the given options choose the one

which correctly denotes the correct word if the letters of the word are arranged in a meaningful way.

The ATTDEUIP of a person is the key for his/her success.
Options :

1. # PATTIDUE

> # AITITUDE

;3 # ATTITUDE

4« APTITUDE

Question Number : 5 Question Id : 27522810604 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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fodir cafdba &1 ATTDEUIP 386 heldr & et gl
Options :
|« PATTIDUE

, « ALTITUDE
, » ATTITUDE

4. v APTITUDE

Question Number : 6 Question Id : 27522810605 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
If the letters of the string provided below are rearranged based on alphabetic order, which letter will come at the sixth
place from the right?

AUDTRFBTSDRFR
Options :
.« R



Question Number : 6 Question Id : 27522810605 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

afg A e 1o Bger & il #7 3EET IUHA & HUR W qAdaredd fhaT S g, af Sl @
W T ¥ TS FIH 9T H?

AUDTRFBTSDRFR
Options :

1. ¢ R

Question Number : 7 Question Id : 27522810606 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
If the letters of the string provided below are first rearranged based on alphabetic order and then second half of the

letters are reversed which letter will come at the fourteenth place from the Left?

ADRTITGEBVDRREREGUNGEWSD VB, Y HH
Options :
% Y

) o W



Question Number : 7 Question Id : 27522810606 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
1. % Y

2.v W
3. % H

4.8 G

Question Number : 8 Question Id : 27522810607 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In a code language "I am good" is written as "Sit any toof.

"He is teacher" is written as "ahe ie mergsr" and "Good is
appreciated" is written as "ksrebt toot ahe." What will be the code for "appreciated’ in that language?
Options :

| % Dmergst



o % ahe
3« ksrebt

4. ® oot

Question Number : 8 Question Id : 27522810607 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
TF FHT ATV H, "l am good” F "Sit any toot." & ¥ H for@r FTAT 81 "He is teacher" @I "ahe ie
mergsr" & T H @ Smar § 3T "Good is appreciated” @T "ksrebt toot ahe" F T H @ Frar g

34T FT AT H 'appreciated F FE w7 7 f@r smwem?

Options :

| = mergsr

» % ahe
3« ksrebt

4 % toot

Question Number : 9 Question Id : 27522810608 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



A man started from point A towards west and drove for 5 kin. When he reached to a crossroad he saw a direction pole
which due to an accident rotated 90 degree clockwise and was pointing wrong directions. Following the pole he turned
towards south and drove for 5 Km. Then he turned right drove for 10 Km before he realized that he is on the wrong
path. In which direction he is from his starting point 'A'?

Options :

1. ®% East

> % South-east
3« North-west

4. % West

Question Number : 9 Question Id : 27522810608 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 10 Question Id : 27522810609 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Introducing Reena to a friend Rohan Said “Her mother is my mother’s husband’s mother”. How Reena (a woman) is

related to Rohan (a man)?
Options :
1. % Sister

, % Daughter

3.« Aunt

4 % Grandmother

Question Number : 10 Question Id : 27522810609 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
1. # L

) % T



3w &Y

4. ® ARIGIGIE

Question Number : 11 Question Id : 27522810610 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
From among the given alternatives choose the pairs which have same relations as in the pairs given below.

Environment: Animal
Options :
| & University: Teacher

> #% Emotional: Human
3 % Instruction: Classroom
Student; College

Question Number : 11 Question Id : 27522810610 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
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Question Number : 12 Question Id : 27522810611 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the option that is related to the third word in the same way as the second word is related to the first word.

STRAP: PARTS :: SILENT:
Options :
1. % MURMUR
7 % TENSE
3. % SPEAK
4. v LISTEN

Question Number : 12 Question Id : 27522810611 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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STRAP: PARTS :: SILENT: ?
Options :
| » MURMUR

, » TENSE
; % SPEAK

4. v LISTEN

Question Number : 13 Question Id : 27522810612 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the figure that will replace the question mark (?) in the following figure matrix.




Options :

=]
[x]
¥
L=

Question Number : 13 Question Id : 27522810612 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 14 Question Id : 27522810613 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Three of the following numbers are alike in a certain way and one is different. Pick the odd one out.
Options :

1. % 1728

2 734
3 % 6859

4 % 216

Question Number : 14 Question Id : 27522810613 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
| % 1728

5 v 734

; % 6859



. % 216

Question Number : 15 Question Id : 27522810614 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
One word (written in capital letters) in the sentence below is jumbled up. From among the given options choose the one
which correctly denotes the correct word if the letters of the word are arranged in a meaningful way.

One’s past act as a RORIMR to see one’s Future
Options :
1. & ERRORS

» % ROMIOR
3 # MRIORR

4.+ MIRROR

Question Number : 15 Question Id : 27522810614 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
| » ERRORS




, « ROMIOR
; » MRIORR

4. v MIRROR

Question Number : 16 Question Id : 27522810615 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the correct mirror image of the given figure when the mirror is placed at the right side of the figure.

Options :



2.¥

Question Number : 16 Question Id : 27522810615 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

2.¥



Question Number : 17 Question Id : 27522810616 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Select the option figure which is NOT embedded in the figure given below (rotation is NOT allowed).

Options :

O
7l

Question Number : 17 Question Id : 27522810616 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 18 Question Id : 27522810617 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the number-pair in which the two numbers are related in the same way as are the two numbers of the following
number-pair.

3:5@
Options :
1. % 5:802

, % 8:916
3 ¢ T:392
4 % 6:902

Question Number : 18 Question Id : 27522810617 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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A %I

3: 36
Options :
| = B 802
, % 8 916

3w 7o 392



4 % B: 902

Question Number : 19 Question Id : 27522810618 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In three of the following number triads, the numbers are related in a certain manner and one is different. Pick the odd

one out.
Options :

Question Number : 19 Question Id : 27522810618 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
% 2,838

, % 5,9, 92

L% 1,8, 56



4v 3,6, 35

Question Number : 20 Question Id : 27522810619 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
From among the given alternatives choose the correct sequence of numerical symbols which when placed in place of (@

in the following expression will solve the equation.

(I5@4@29)@1l@5@3) @0
Options :

W+ o= o+ =+

Question Number : 20 Question Id : 27522810619 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 21 Question Id : 27522810620 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
As per a 2019 Oxfam report on caste representation in Indian media, how many people from Scheduled Castes and
Scheduled Tribes are in leadership positions in the 121 biggest newsrooms of the country?
Options :
.v 0

) # 10

Question Number : 21 Question Id : 27522810620 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
v 0
> % 10
3 % 15

4. % 2B



Question Number : 22 Question Id : 27522810621 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
On 15 June, 2020, where did a skirmish occur between Indian & Chinese troops, leading to the death of 20 Indian

personnel?
Options :
| % Pangong Tso

, « Galwan Valley

3 % Chushul Sector

4 % Depsang Plains

Question Number : 22 Question Id : 27522810621 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
15 3, 2020 &t # ard R Al A F @ wew gg, w20 s Afewt &
Al & TS|

Options :

L% deeT =A@t (Pangong Tso)

, o TEEA U (Galwan Valley)

T2 T (Chushul Sector)

3.8 23



, % SHHET HeA (Depsang Plains)

Question Number : 23 Question Id : 27522810622 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Tappeta Gullu, Lambadi and Dhimsa are folk dances of which state?
Options :

1. % Himachal Pradesh

7 « Andhra Pradesh
3 % Karnataka

4 % Kerala

Question Number : 23 Question Id : 27522810622 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
T oo, FEETEr, AT R TS F AF 70 22

Options :

| fEATES g
), v T FER
3 % FeEH

4 %



Question Number : 24 Question Id : 27522810623 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The Pang I habsol festival is celebrated in which of the following state?
Options :

1 #® Assam

» % Manipur
3 o Sikkim

4 % Mizoram

Question Number : 24 Question Id : 27522810623 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 25 Question Id : 27522810624 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

originated in Eastern Uttar Pradesh, mainly in T ucknow & Benares, around 18th century.
Options :
1 % Ghazal

) ® Tappa
3 % Dhrupad

4 « Thumri

Question Number : 25 Question Id : 27522810624 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
| % TS

7 ® T4l

g49a

3.% 2

SHIT

4.4 3



Question Number : 26 Question Id : 27522810625 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who executed the 5th Sikh Guru, Guru Arjan?
Options :

1 % Akbar

» « Jahangir

3 % Shah Jahan

4w Auran gzeb

Question Number : 26 Question Id : 27522810625 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
ureed R I AT I HeT 47 S e Aeues feam un?

Options :
|, % 3Tk

). v B
3. % MBS

4 % HRETSE

Question Number : 27 Question Id : 27522810626 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

In urban population, the literacy rate is at the national level as per the 2011 census.
Options :

1.« 84.98%

) % T76.95%

3 % 64.93%

4 % 48.93%

Question Number : 27 Question Id : 27522810626 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ELr HEET H, 2011 HT FANUEAT &F HJAR TET T I WIERAT &1 g
Options :
| v 84.98%

, % 76.95 %
s % 64.93 %

4 % 48.93%

Question Number : 28 Question Id : 27522810627 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Name the largest solar park in India.
Options :
| = Pavagada Solar Park, Karnataka

, % Kurnool Ultra Mega Solar Park, Andhra Pradesh
3  Bhadla Solar Park, Rajasthan

4 % Rewa Ultra Mega Solar Plant, Madhya Pradesh

Question Number : 28 Question Id : 27522810627 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 29 Question Id : 27522810628 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



In July 2021, India's trade deficit was revised to 13.81 billion US dellars. Which of the following sectors did not

contribute to a soft rise in exports?
Options :
1.« Iron ore

, % Petroleum products

3 % Gems & jewelry

4 % Engineering goods

Question Number : 29 Question Id : 27522810628 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
1. ¢ llg 313

, x USRI 3c1E

Teed AT FmegmoT

3. %

, x SSNfATfET wAE

Question Number : 30 Question Id : 27522810629 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

The Central government in the Union budget for 2021-22 allocated Rs.2.596.14 crore to sports, less by allocated

in the previous financial vear
Options :
1. % Rs.660.78 crore

> % Rs 320.78 crore
3.« Rs.230.78 crore
4. % Rs.170.78 crore

Question Number : 30 Question Id : 27522810629 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 31 Question Id : 27522810630 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

India's Gini Coefficient (that measures income distribution across population) increased in 2020, indicating an increase
in inequality. What was the Gini Coefficient in 20207

Options :

1w 747

) # 77.2
3 % 80.6

4 & 823

Question Number : 31 Question Id : 27522810630 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

2020 H &R & el Uk (S SFEET H A AT H A HFH & g9, A FHAAA H i
Hehd g1 2020 # T T[one AT or?

Options :

| % 74.7

5 % 77.2
; % 80.6

L v 82.3



Question Number : 32 Question Id : 27522810631 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following is not an "infrastructure line ministry" under the National Monetization Pipeline launched by the

Cenftral Government?
Options :

| = Railways

> % Power
3 % Food & Public Distribution

4  Atomic Energy

Question Number : 32 Question Id : 27522810631 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
farafoiea A ¥ #la dr &g TR ErT Aw _%I‘ TS TSET HLAHIUT TMSTeSe & dgd "SopIEgaal
asa fAafA=(infrastructure line ministry)” @81 &7

Options :
xR

s « TEF 3R e o

4. =



Question Number : 33 Question Id : 27522810632 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In which of the following sectors is foreign direct invest permitted in India ?

Options :
|« Mining and Minerals

, % Cigars and Cigarettes
3 % Government/Private lottery

4 » Gambling and Betting

Question Number : 33 Question Id : 27522810632 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
frefofEa & @ 5w &7 7 sina 7 weoer el @ @ sqgafa g7

Options :

| v T HR @i

0. % R 3k Re
s % TRV Sl

SHT 3T T

4, % 3



Question Number : 34 Question Id : 27522810633 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following fundamental rights (article) is available to even foreigners residing in India?
Options :

1. ® Article 15

o % Article 17
3« Article 21

4 % Article 19 (1) (b)

Question Number : 34 Question Id : 27522810633 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fefofda & @ #ia @ Aifte 3RFR (r=te) R # T I Rt & R o 3yeey g2

Options :

1}334@?&315

) 34@?%{1?
3.?‘,3-1?17._&‘::‘___ 21

4« FT=E 19 (1) (b)



Question Number : 35 Question Id : 27522810634 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

By which amendment of the Indian Constitution was Chapter IV-A added to the Constitution of India?
Options :

1 % 23rd Amendment

> % 27th Amendment
3 % 39th Amendment

4 « 42nd Amendment

Question Number : 35 Question Id : 27522810634 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

IR WU & e Tus gERT 9RT & Fiaus H deny IV-A HiET 9= ar?
.
5 % 279 T
3w 397 Tty

4 v 423 T



Question Number : 36 Question Id : 27522810635 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which amendment of the Indian Constitution emphasized on the quasi- federal structure of the Indian Constitution and

decentralized the system of governance by setting up local government bodies in urban areas?
Options :
1 % 62nd Amendment

7 % 44th Amendment
3 % 42nd Amendment

4 74th Amendment

Question Number : 36 Question Id : 27522810635 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

g gfeua & By @mius & 9RET gfdura & wd-mehy g or S o sl oaedr &E F wuer
TR Tt & TATTAT FF AHA JUer i faeharepd fhar?

Options :

1 % 523 Fﬁﬂ‘i}?{
) ® 44T TATTT
3 % 423 gara

4 v 74T T



Question Number : 37 Question Id : 27522810636 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which nation won the inaugural World Test Championship in cricket?
Options :

1 % India

> % South Africa
3 New Zealand

4 % Australia

Question Number : 37 Question Id : 27522810636 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frere 7 Feues gx # T are ARwalRw G g F Sidr
Options :
1w AT

5 % GISTOT 3ShIeRT



Question Number : 38 Question Id : 27522810637 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following micro-organisms are obligate anaerobes ?

Options :
1. ® Yeast

) #® Amoeba
3 « Archea

4 % Mlcrococus Luteus

Question Number : 38 Question Id : 27522810637 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frefaf@a & & 7 & gew e sfasedr sErgsia (Obligate anaerobes) g2
Options :

| % AT
> w HEAMET

3« 3TERaT

, x FISHIHIERE TYH

Question Number : 39 Question Id : 27522810638 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

Identify the organelle of a cell that is functions as the digestive system of the cell?
Options :

1 ®# Mitochondria

> % Ribosome
3 % Centriole
4 « Lysosome

Question Number : 39 Question Id : 27522810638 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3T FHITRET I T HITeTT FAT HIEH & 997 dF & T H FI FdT 2

Options :

4 v CTEEEH

Question Number : 40 Question Id : 27522810639 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Which period is also known as the longest period in the periodic table according to Mendeleev?
Options :
1. % Fifth

> % Fourth
3« Sixth
4 % Second

Question Number : 40 Question Id : 27522810639 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

HSAI® & HTEN MEd FROT &1 §96 o061 Haa Hid AT 82
Options :

| % SrEEr

2.&;3?1?31'[

3« Tol

Arithmetic Ability

Group Number : 3
Group Id : 275228377



Group Maximum Duration : 0

Group Minimum Duration : 0
Show Attended Group? : No
Edit Attended Group? : No
Break time : 0
Group Marks : 20
Is this Group for Examiner? : No

Arithmetic Ability
Section Id : 275228582

Section Number : 1

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 275228683
Question Shuffling Allowed : Yes

Question Number : 41 Question Id : 27522810640 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the value of:
0.1x 01 x 0.1 4 0.02 x 0.02 x0.02

0.3 x 0.3 Xx 0.3 + 0.06 x 0.06 x 0.06
Options :
1 #% 0.03

) # 0.3



Question Number : 41 Question Id : 27522810640 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

0.1x 01 Xx 01+ 0.02 x 0.02 xX0.02
03 X 03 X 03+ 0.06 X 0.06 X 0.06
T AT AT HI=T)
Options :
1. % 0.03

» = 0.3

Question Number : 42 Question Id : 27522810641 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following fraction is the largest?

a) 7/9 b) 16/23 ¢) 15/21 d) 12/17
Options :
1. ® 16/23



> % 15721
3 % 12/17

4.9 719

Question Number : 42 Question Id : 27522810641 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

= & 8 39 O @ 398 957 22

a) 7/9 b) 16/23 ¢) 15/21 d) 12/17
Options :
| % 16/23

5 % 15/21
3 % 12117

4 709

Question Number : 43 Question Id : 27522810642 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
21 2 .

= T E (=) =)/ 20
10 10 5

Options :
1 v 046



» % 0.0168
3 % 0.04

4 % 0.168

Question Number : 43 Question Id : 27522810642 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T T F g HI=T

21 2 .
— i =32
()% (5)+(5) /20
Options :
| v 0.46
, % 0.0168
; % 0.04

, = 0.168

Question Number : 44 Question Id : 27522810643 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following numbers are divisible by 2, 5 and 10?7

4502 4500 4505 , 5045
Options :



Question Number : 44 Question Id : 27522810643 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

for & @ &9 o & 2, 5 3T 10 ¥ &=y 87

4502 , 4500 , 4505 , 5045
Options :
| = 4502

5 % 4505
3« 4500

4 % 5045

Question Number : 45 Question Id : 27522810644 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Determine whether which of the numbers given in options are divisible by 6:

Options :



| % 453014

5 & 432012

Question Number : 45 Question Id : 27522810644 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

el 7 & 717 gEwsT § § i O ' 6 ¥ BT g
Options :

| % 453014

5 v 432012
s % 452301

, = 450125

Question Number : 46 Question Id : 27522810645 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Two numbers are in the ratio 3 ;5. If the sum of numbers is 72, find the numbers.
Options :

1 % 19and 25



o % 24 and 48
3 « 27 and 45

4 % 23 and 46

Question Number : 46 Question Id : 27522810645 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
ar FEATT 3:5 % gAa H g1 AT st oA 72 §, O § §= 99 Hfaw
Options :

| = 19 3T 25
, % 24 3T 48
s » 27 3T 45

4 % 23 3T 46

Question Number : 47 Question Id : 27522810646 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A sum of money at simple interest amounts to Rs. 715
in 3 years and to Rs. 754 in 4 years. The sum is:

Options :
1.« Rs. 598,



> % Rs. 578,
3 # Rs. 588

4 % Rs. 698,

Question Number : 47 Question Id : 27522810646 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
WUROT 4T WX U [ 3 I F 1715 AR 4
et # 3754 g Jrar g1 38 ufer s fifFw

Options :
| v ¥598

, % T578
3 % 588

4 % T698

Question Number : 48 Question Id : 27522810647 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What will be the ratio of simple interest earned by certain amount at the same rate of interest for 9 years and that for 12
vears?

Options :

1« 34



Question Number : 48 Question Id : 27522810647 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

v fAfFea o g3, §AE s @ W, 9 AW AR 12 9¥ & v 35T dmer srEt @ deae A
I |

Options :
1. ¥ 3:4

0. #® 4:3
3. ® 2:3

4 ® 3:6

Question Number : 49 Question Id : 27522810648 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A work which could be finished in 8 davs was finished 2 days earlier after 10 more men joined. The number of men
emploved was?

Options :
1. % 20 men



7 « 30 men
3 % 40 men

4. % 15 men

Question Number : 49 Question Id : 27522810648 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

FFET SRS A AT S ERar T, 10 R AT F arEE A © 2 R wEe &Y
HATT & 97| FRRT HNSHAT S &1 hgar 9r?

Options :

| % 20 HIEHT

, « 30 AT
5 = 40 HEHAT
4 » 15 HTGHT

Question Number : 50 Question Id : 27522810649 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Two airplanes depart from an airport simultaneously, one flying 100 knvhr faster than the other. These planes travel in
opposite directions, and after 2 hours they are 1072 km apart. Determine the speed of the faster plane

Options :
1« 318 km/hr



> # 218 kmvhr
3 % 418 km/hr

4 % 308 kmv/hr

Question Number : 50 Question Id : 27522810649 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ar gaTs SIgTST ek WY U Al 7SS § WEAH HI g1 U, gEY HT gere A 100 kmvhr I F 33 @I
gl ¥ oA ol femsit # I #d €, 3R 2 9 & a1g ¥ ve-g § 1072 km T & I 81 9
Tl 9T HAE Fr 9 AT FIiST

Options :
| v 318 km/hr

5 % 218 km/hr
3 % 418 km/hr

4 % 308 kmihr

Question Number : 51 Question Id : 27522810650 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The average of squares of consecutive even numbers till 12(including 12)
Options :

1. % 36.67



Question Number : 51 Question Id : 27522810650 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
12 e AT T FEAE (12 # Affer & go) & 90 w1 Had fdar g

Options :
| % 36.67

, » 60.87
s % 40.66

4 % D2

Question Number : 52 Question Id : 27522810651 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The average weight of 6 person's increases by 2.5 kg when a new person comes in place of one of them weighing 55 kg.

What might be the weight of the new person?

Options :
| = 05kg



4 u 060kg

Question Number : 52 Question Id : 27522810651 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

6 =afFaal & ug o H 2.5 kg & giF & S §, 59 397 ¥ 55 kg 9 It AFT & TIF W TH
AT =ATFT 3T ST g1 9 ;g Fr 9 Faar g gwar g2

Options :

|« 65kg

, « 75kg
, » 70kg

, « B60kg

Question Number : 53 Question Id : 27522810652 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Area of a rectangular field of length 80 m is 1600 sg.m
Find the field's breadth?

Options :

1 % 30m



3.« 20m

4. % 40m

Question Number : 53 Question Id : 27522810652 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

80 m SEIE Tl UF HIATH HelA FT &ST%a 1600 sq.m g1 Hera #r =iss fraar g2

Options :
1. ® 30m

0. 25m
3 & 20m

4 ® 40m

Question Number : 54 Question Id : 27522810653 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Calculate the area of the given Parallelogram

A
10 cm

7 cm

-

Options :
| 60 3q .cm

> = 40sq.cm
3 % 30sq.cm

4 % 653q.cm

Question Number : 54 Question Id : 27522810653 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



A foT a0 FAER TgEe T 8w A S|

A
10 cm

7 cm

-

Options :
|« 80 sq .cm

, » 40 sq .cm
; » 80 sq .cm

4 » 65 sgq .cm

Question Number : 55 Question Id : 27522810654 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Radius of a cylinder is 14cm and its height is 20em,what is its surface area?
Options :

| % 2999 sq cm

) ® 2929 sg cm

3 2992 sg.cm



4 % 2299sqcm

Question Number : 55 Question Id : 27522810654 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Tfe OhET see & Bear 14 om § 3R g@edhr 3% 20 om g, dF SHH SO SFEe TohaaT 87
Options :

| % 2999 sq cm

, » 2929 sq cm
5 « 2992 sq cm

4 % 2299 sq cm

Question Number : 56 Question Id : 27522810655 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
If the ratio of radii of two spheres is 3 : 5, find the ratio of their volumes.
Options :

| ® 25:125



I
g
|
ot
[~

i

Question Number : 56 Question Id : 27522810655 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Ifg gr et Fr BTt &1 a3 1 5 7, @ 399 HA H I A FiSw

Options :

| % 25:125
, % 9:25

;% 27 : 625
L v 27 :125

Question Number : 57 Question Id : 27522810656 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



The table below shows the number of the refrigerators that were sold by the showroom in the years from 2016 to 2020.
Answer the below question based on the information given in the table.

Observe the given table.

YEARS | 4 B C D
2016 183 123 25T 167
2017 178 272 267 05
2018 133 161 226 176
2019 278 272 213 284
2020 168 172 112 84

By how much more has showroom C sold refrigerators than showroom B in these 5 vears ?
Options :
1. ® 59

2. ¢ 95

Question Number : 57 Question Id : 27522810656 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



forrT anforerr 2016 ¥ 2020 I F Iut & N oIFH FRT 99 91T IF=iedl Fr TE&AT F 2T 2
Ao & &1 9 FFFNT & HUR T F2AT & 3ca e’

A &1 TS ATTeIRT FHT TR HITST]

EL) A B & D
2016 | 183 123 277 167
2017 | 178 272 267 95
2018 | 133 161 226 176
2019 |278 272 213 284
2020 | 168 172 112 84

fw arv 5wt 7 ofiFFW C & AT B #r goren H foraw afow Weer a9 82
Options :
| % 59

2.« 95
5 x 98

, % 85

Question Number : 58 Question Id : 27522810657 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



The bar graph shows imports and exports of a commodity by a dealer.

Answer the question based on the given figure below.

o

120
LH)
T 15
a1
t L3
1 10
i 1317
00 [iwu]
H : B Exports
T P W mports
T =
] .
B+ i
D0} 200y 2002 P

(EEE] 2004 J05

spEEEEEER

P

In which vear was the difference between the exports and imports the maximum?
Options :

1. ® 2003

7« 2005

3 % 2000

4 % 2002

Question Number : 58 Question Id : 27522810657 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



foesr arforesr v e gamT et 95 % T (imports) 3R AT (exports) @ g2er gl

1=
ik
a0 14
133
1 -PlE]
130 V0
= 400 oo
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JOD 2001 003 £lu k] 2004 005

Al 8T 77T =9 & 3T 9T 99T & 3ca] ai=g|
o o P 3 e & 9= F7 3aT gEE ar?

Options :
| % 2003

B EEEEEEE

(-]

5 » 2005
3 % 2000

4 % 2002

Question Number : 59 Question Id : 27522810658 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



The bar graph shows imports and exports of a commodity by a dealer.

Answer the question based on the given figure below.

o

120
LH)
T 15
di - 14
t L3
1 10
i 1317
00 [iwu]
H : B Exports
T P N imports
T =
| .
B+ i
D0} 200y 2002 P

(EEE] 2004 J05

spEEEEEER

P

From the numbers given in the figure below, what will be the percent increase in the exports in 2004 as compared to
2002?

Options :

1. % 35.5%

5 % 35%

4 % 30%

Question Number : 59 Question Id : 27522810658 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



e 9 I v S gErr R avg & 3T (imports) 3T AT (exports) Fr g2t B
A BT 7T % % YR W 9 F 3eal AT

00
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180
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120 110
o0 o0
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B0 B AT
b0
[ il
]
20
0
2000 J001 2002 200 2004 200

2002 I Ferer H 2004 & fada # fhaa fewa & 3 8872
Options :
| % 35.5%

5 % 35%
s v 25%

4 = 30%

Question Number : 60 Question Id : 27522810659 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



In the graph. the number of boys(Y) and girls (X) are given in a school from 2004 to 2009. Study this graph properly
and answer the questions.

What is the difference between the average number of girls and the average number of boys from the yvear2005 to 2008
in the school?

Options :
1.« 4.25

5 % 5.64

Question Number : 60 Question Id : 27522810659 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



H R H 2004 ¥ 2009 =T (Y) HT wEfaat (X) & ¥ =
Tﬂmﬂﬁﬁmﬁﬁaﬂ?ﬁﬁﬂmﬁéaﬁf {} L {} Wﬁﬁ%i@waﬂ
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Options :
| v 4.25
, % 5.64
, % 6.25
, % 5.35
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Group Number : 4
Group Id : 275228378
Group Maximum Duration : 0
Group Minimum Duration : 0

Show Attended Group? : No
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Question Number : 61 Question Id : 27522810660 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate option to fill in the blank.

The city had three parts and each part was surrounded ----------- massive stone walls.
Options :
1 % from

7« with

;5 w» through



4 % of

Question Number : 61 Question Id : 27522810660 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate option to fill in the blank.

The city had three parts and each part was surrounded ----------- massive stone walls.
Options :
1. % from

2. W with

; w through

4 % of

Question Number : 62 Question Id : 27522810661 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate verb in past tense to fill in the blank.

We had expected about a hundred people to attend this event, but only fifty ------------- up.
Options :
|« turned

, % Were turning



5 % had been turning

4 % were turned

Question Number : 62 Question Id : 27522810661 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate verb in past tense to fill in the blank.

We had expected about a hundred people to attend this event, but only fifty ------------- up.
Options :
1« turned

, % Were turning
5 % had been turning

4 % were turned

Question Number : 63 Question Id : 27522810662 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate verb in present tense to fill in the blank.

Will you please keep quiet for some time? I ------—---—- to solve a complicated problem.
Options :
1 % ﬂ'}"



, % Was trying
3 amtrying

4 % have tried

Question Number : 63 Question Id : 27522810662 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate verb in present tense to fill in the blank.

Will yvou please keep quiet for some time? I ------—----- to solve a complicated problem.
Options :
| % oy

, % Was trying
3w amtrying

4 % have tried

Question Number : 64 Question Id : 27522810663 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate option to fill in the blank.

You will find two books on my table, --------- big one and -------- small one.
Options :



) % a--—---an
3 % A ------ the
4 % the------- a

Question Number : 64 Question Id : 27522810663 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate option to fill in the blank.

You will find two books on my table, --------- big one and -------- small one.
Options :

1. ¢ Am—mee a

) % a--—----an

3 ®% a------ the

4 % the---—---- a

Question Number : 65 Question Id : 27522810664 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate option to fill in the blank.

It is difficulf to ~--==-r=memem the idea of tolerance to the fanatics.
Options :



| % getover
, « getacross
;3 % gettogether

get out

Question Number : 65 Question Id : 27522810664 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate option to fill in the blank.

It is difficult {0 ~~--=-rmemmmm the idea of tolerance to the fanatics.
Options :

| % getover

,  getacross

;3 % gettogether

4 % getout

Question Number : 66 Question Id : 27522810665 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Select the most appropriate option to fill in the blank.

The British were under no obligation to ----------- the power to the Nawab.
Options :
1. % hand on

> % hand out
3« hand over

4 % hand round

Question Number : 66 Question Id : 27522810665 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate option to fill in the blank.

The British were under no obligation to ----------- the power to the Nawab.
Options :

1. % hand on

> % hand out

3 « hand over

4 % hand round

Question Number : 67 Question Id : 27522810666 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate option to fill in the blank.

The mother --------- her silence when she saw his child being tortured.
Options :

1 % made

> % cracked

3 « broke

4 % told

Question Number : 67 Question Id : 27522810666 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate option to fill in the blank.

The mother --------- her silence when she saw his child being tortured.
Options :

| ® made

o % cracked

3 « broke

4. ® told

Question Number : 68 Question Id : 27522810667 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

Select the most appropriate synonym of the given word.

DEIECTABIE
Options :
| % disagreeable

7 « delicious

;3 % boring

4 % unpleasant

Question Number : 68 Question Id : 27522810667 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate synonym of the given word.

DELECTABLE
Options :

| % disagreeable
2 « delicious

5 % boring

4 % unpleasant



Question Number : 69 Question Id : 27522810668 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate synonym of the given word.

GALVANIZE

Options :

L stimulate

> % dissuade
3 % retard

4 % calm

Question Number : 69 Question Id : 27522810668 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate synonym of the given word.

GAILVANIZE

Options :

L stimulate

o % dissuade
3 % retard

4 % calm



Question Number : 70 Question Id : 27522810669 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate option to complete the given proverb.

When in -——--------- do as the Romans do.

Options :
| = ltaly

7 « Rome
3 % Europe

4 % England

Question Number : 70 Question Id : 27522810669 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate option to complete the given proverb.

When in -——--------- do as the Romans do.

Options :
| = ltaly

7 « Rome

3 % Europe



4 % England

Question Number : 71 Question Id : 27522810670 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate option to complete the given proverb.

AS YOU ===nmmmmee so shall vou reap.
Options :
1. #® do

, % Dplant
3 % spread
4.« SOW

Question Number : 71 Question Id : 27522810670 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate option to complete the given proverb.

AS YOU =r=mrmmmee so shall you reap.
Options :
1. ® do

» % Dblant



3 % spread

4.« SOW

Question Number : 72 Question Id : 27522810671 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the wrongly spelt word.
Options :

1 ® industrious

» ® cautious
3 « mischievious
4 % Aauspicious

Question Number : 72 Question Id : 27522810671 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the wrongly spelt word.
Options :

1. % industrious

) % cautious

3« mischievious



4 % auspicious

Question Number : 73 Question Id : 27522810672 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the sentence structure that is meaningful and grammatically correct.
Options :

| % He blew the end of the game to mark his whistle.

» % Tomark his whistle he blew the end of the game.
;3 % Lo mark the end of the game He his whistle blew.

4  He blew his whistle to mark the end of the game.

Question Number : 73 Question Id : 27522810672 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the sentence structure that is meaningful and grammatically correct.
Options :

| # He blew the end of the game to mark his whistle.

» % Lo mark his whistle he blew the end of the game.

3 % Tomark the end of the game He his whistle blew.

4  He blew his whistle to mark the end of the game.



Question Number : 74 Question Id : 27522810673 Question Type : MCQ Option Shuffling
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the sentence structure that is meaningful and grammatically correct.
Options :

: Yes Is Question Mandatory : No Option

| % Thekey somebody had taken away because she could not open the cupboard.

, % DBecause somebody had taken away the key the cupboard she could not open.
3« She could not open the cupboard because somebody had taken away the key.

4 % Ihecupboard she could not open because the key somebody had taken away.

Question Number : 74 Question Id : 27522810673 Question Type : MCQ Option Shuffling
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the sentence structure that is meaningful and grammatically correct.
Options :

: Yes Is Question Mandatory : No Option

| % Thekey somebody had taken away because she could not open the cupboard.

, % Because somebody had taken away the key the cupboard she could not open.
3« She could not open the cupboard because somebody had taken away the key.

4 % Thecupboard she could not open because the key somebody had taken away.



Question Number : 75 Question Id : 27522810674 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

I make it a point to visit my parents quite ------------- 1
Options :

| = lately

,  frequently

3 % recently

4 % simply

Question Number : 75 Question Id : 27522810674 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

I make it a point to visit my parents quite ------------- .
Options :

| w lately

,  frequently
;3w Iecently

4 % simply

Sub-Section Number : 2
Sub-Section Id : 275228685



Question Shuffling Allowed : Yes

Question Id : 27522810675 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (76 to 80)

Read the following passage and answer the question given after it.

With over 60 years of aerospace history. NASA is one of the longest running and
most beloved government organizations in the United States. The men and women
have created major innovations and achieved momentous milestones. These, of
course. include the Apollo program through to today’s International Space Station
(I.S.S) missions.

One of the most interesting chapters in U.S. aerospace history is the Space Shuttle
Program. From the 1970s through 2013, NASA operated a series of reusable
spacecraft to help increase human presence in space. These missions launched
hardware like the Hubble space telescope and helped build the 1.S.S. Though the last
shuttle flight was in 2013. the Shuttle program legacy lives on.

The Space Shuttle program was initially conceived in the late 1960s. As

the Apollo program put men on the moon at exorbitant cost. NASA wanted to create a
reusable, lower cost way to send people and cargo to space on a regular basis.
Enterprise was the first space shuttle built, but it never flew to space. Instead,
Columbia was the first to fly to space in 1981 from Kennedy Space Center.

Eventually. there were six shuttles in all: Columbia. Challenger. Discovery, Atlantis.
Endeavour. and Enterprise. Over the course of 30 years. these shuttles completed 135
missions. Shuttles helped NASA deliver payloads to space, such as the Hubble Space
Telescope. and build Skylab and the International Space Station.

Unfortunately. following the Columbia and Challenger accidents in 1986 and 2003, the
shuttle program became increasingly cost meffective and was eventually retired. On
July 8, 2011. Atlantis made the last shuttle launch and the Space Shuttle program
ended.

The NASA Space Shuttle Enterprise was the first orbiter in the Shuttle program.



However. as a prototype vehicle for atmospheric flight tests it was not actually capable
of orbital flight — it had no engines or heat shielding! Construction of

the Enterprise started in 1974. rolled out in 1976, and made its first flight n 1977.
While it was originally mtended to be retrofitted for spaceflight as early as 1981.
changes in space shuttle design made Enterprise obsolete before she could ever leave
earth’s atmosphere.

Today. the Space Shuttle Enterprise is on permanent exhibition at the Intrepid Sea. Air
and Space Museum in New York City. New York.

Sub questions

Question Number : 76 Question Id : 27522810676 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What is the latest mission of the NASA?
Options :

| = Hubble Space Telescope

, % Skylab

3  International Space Station

4 % Space Shuttle Programme

Question Number : 77 Question Id : 27522810677 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The passage is mainly about

Options :

| % NASA’srole in the aerospace history of US.



»  NASA's Space Shuttle Programme.
3 % INASA's first space shuttle, Enterprise.

4 = NASA's failure in sending the Enterprise in the space.

Question Number : 78 Question Id : 27522810678 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What is the tone of the passage?
Options :

1 % emotional

, « laudatory
5 w Datronizing

4 % Introspective

Question Number : 79 Question Id : 27522810679 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Why was the Space Shuttle Program taken up by NASA?

a. NASA wanted a reusable shuttle to send to space.

b. NASA wanted a cost-effective way to send people and cargo into space.
c. NASA wanted a vehicle to be sent to space on a regular basis.

Of the above reasons, which are true? Select the correct option.
Options :
1 % aand b are true

o % aand c are true
3 % cand b are true

4 « @ b, and c all are true

Question Number : 80 Question Id : 27522810680 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which word in the passage means ‘a first or preliminary version of a device or vehicle from which other forms are
developed’?
Options :
| prototype

> % hardware
3 % orbiter

4 % payload



Question Id : 27522810675 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (76 to 80)

Read the following passage and answer the question given after it.

With over 60 years of aerospace history. NASA is one of the longest running and
most beloved government organizations in the United States. The men and women
have created major innovations and achieved momentous milestones. These, of
course. include the Apollo program through to today’s International Space Station
(I.S.S) missions.

One of the most interesting chapters in U.S. aerospace history is the Space Shuttle
Program. From the 1970s through 2013, NASA operated a series of reusable
spacecraft to help increase human presence in space. These missions launched
hardware like the Hubble space telescope and helped build the I.S.S. Though the last
shuttle flight was in 2013. the Shuttle program legacy lives on.

The Space Shuttle program was initially conceived in the late 1960s. As

the Apollo program put men on the moon at exorbitant cost. NASA wanted to create a
reusable, lower cost way to send people and cargo to space on a regular basis.
Enterprise was the first space shuttle built. but it never flew to space. Instead.
Columbia was the first to fly to space in 1981 from Kennedy Space Center.

Eventually, there were six shuttles in all: Columbia, Challenger. Discovery, Atlantis.
Endeavour. and Enterprise. Over the course of 30 years. these shuttles completed 135
missions. Shuttles helped NASA deliver payloads to space, such as the Hubble Space
Telescope. and build Skylab and the International Space Station.

Unfortunately. following the Columbia and Challenger accidents in 1986 and 2003, the
shuttle program became increasingly cost ineffective and was eventually retired. On
July 8, 2011. Atlantis made the last shuttle launch and the Space Shuttle program
ended.

The NASA Space Shuttle Enterprise was the first orbiter in the Shuttle program.
However. as a prototype vehicle for atmospheric flight tests it was not actually capable



of orbital flight — it had no engines or heat shielding! Construction of

the Enterprise started in 1974, rolled out in 1976, and made its first flight in 1977.
While it was originally intended to be retrofitted for spaceflight as early as 1981.
changes in space shuttle design made Enterprise obsoclete before she could ever leave
earth’s atmosphere.

Today. the Space Shuttle Enterprise is on permanent exhibition at the Intrepid Sea. Air
and Space Museum in New York City. New York.

Sub questions

Question Number : 76 Question Id : 27522810676 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What is the latest mission of the NASA?
Options :

| = Hubble Space Telescope

, % Skylab

3 International Space Station

4 % Space Shuttle Programme

Question Number : 77 Question Id : 27522810677 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The passage is mainly about

Options :

| % NASA’srole in the aerospace history of US.



»  INASA's Space Shuttle Programme.
;3 % INASA's first space shuttle, Enterprise.

4 % NASA's failure in sending the Enterprise in the space.

Question Number : 78 Question Id : 27522810678 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What is the tone of the passage?
Options :

1 % emotional

,  laudatory
5 w Datronizing

4 % Introspective

Question Number : 79 Question Id : 27522810679 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Why was the Space Shuttle Program taken up by NASA?

a. NASA wanted a reusable shuttle to send to space.
b. NASA wanted a cost-effective way to send people and cargo into space.
c. NASA wanted a vehicle to be sent to space on a regular basis.

Of the above reasons, which are true? Select the correct option.



Options :
1 % aand b are true

> % aand c are true
3 % cand b are true

4 « @b, and call are true

Question Number : 80 Question Id : 27522810680 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which word in the passage means ‘a first or preliminary version of a device or vehicle from which other forms are

developed’?
Options :
| brototype

> % hardware
3 % orbiter

4 % Pbayload
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Question Number : 81 Question Id : 27522810681 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TH Sy egaar 21 I 7 'y F1r 22

Options :
| % H
2. % Hé; TH

3 % Tererwor



4.« (ERIERI)

Question Number : 81 Question Id : 27522810681 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TH iy egaar g1- 997 § 'y =2 87

Options :
|, ® HA

) ® ?éﬂm
3 % T9r9oT

4. (ERIER )

Question Number : 82 Question Id : 27522810682 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fr=fof@a & & Fia-ar Rees o rafewor &1 e 82

Options :
1. v 3=l

5w Fidfee

3 % HASATH



4. & H_E"TU'H%TU

Question Number : 82 Question Id : 27522810682 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fr=fefea & & Fia-ar ReeT g Brarfaevor &1 3gEor 82
Options :
1« HHlAdR

) w FAlee

3 % HASATH

4. & H%TU'H%TU

Question Number : 83 Question Id : 27522810683 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

el & ¥ Fila-ar Twey 3Eer &1 me -t &7
Options :
| v SEHFPR

) x HHEFR

3. % g HPR



4, w FE+FER

Question Number : 83 Question Id : 27522810683 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

el & ¥ Fila-ar Twey 3Eer &1 me -t &7
Options :
| v SEHFPR

) % FHEFR
s % FEAFR

4w FE+ER

Question Number : 84 Question Id : 27522810684 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fA=fofa # o sl Gwey Ty 7 o o=t 2
Options :

| w TSR

) v TSR

3 % PRASE



4w =+

Question Number : 84 Question Id : 27522810684 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

=T & ¥ Fa-uT Reey ‘Bl &1 ofr o=t &2

Options :

o FRIER
, v BREE
3 ® ﬁn-"'ga

4 % TR

Question Number : 85 Question Id : 27522810685 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

R # ¥ Sia-87 feey '+7Fa &7 T8 98 27

Options :
| % A F IR

) ® a|i1 ehl hIH

FTH g{lu:t 7ol
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Question Number : 85 Question Id : 27522810685 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T=fEa § O FiF-ar ey 7T F7 5 T 2

Options :
| % I W IR

7 ® =T FT FH

FTH g{lu?t 7ol

FH T = TS T
4. 3

Question Number : 86 Question Id : 27522810686 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
feafof@a & & Hla-ar Tl e agalie TAE F 3880 87

Options :

| % e

7 ®% oA{cdd

3 v Hoare



4 % SR

Question Number : 86 Question Id : 27522810686 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
=T § ¥ Si9-ar g+ o= aga‘r% AT &7 3S18I0T 27

Options :

I RELTI

7w @dled
3,¢‘Fﬁaﬁl?-rr

4 % SR

Question Number : 87 Question Id : 27522810687 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

| v UETAHR

2.¥3m

3. % 38 [IIE+EI;II
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Question Number : 87 Question Id : 27522810687 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

SH FHR H FUT IT A=l P FTACHFAT T TacHFar 2iar 8, 3T F7 THHR Fal-
Options :

1. v UACTTFR

Question Number : 88 Question Id : 27522810688 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
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4 % TH®

Question Number : 88 Question Id : 27522810688 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

| % oW
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4 % TH®

Question Number : 89 Question Id : 27522810689 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
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4 % S

Question Number : 89 Question Id : 27522810689 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
few arv Rt 7 & AW & wHmeE aeg giav

Options :
|, % &HId

2. v G Al
3 % 9
4 % aﬂ

Question Number : 90 Question Id : 27522810690 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fefafea & & #ia-ar fem-gee e 272

Options :

| % TES-HISA
) ® gleg-3a7
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Question Number : 90 Question Id : 27522810690 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
frrafaf@a 7 & sia-ar fem-gew anE 2

Options :

| % HESA-HISA
7 ® m—m

3 TTET-FresT

4. B %ﬂlﬂl'{'d;*"ld-]

Question Number : 91 Question Id : 27522810691 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
|, % STelsl-aTelq

2. #® I e R T I

3 % STold- TR



4 v STEE-FE

Question Number : 91 Question Id : 27522810691 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fer siv Reear # & &9 &1 IH ‘SICel- HHA F Y STFT FIAT 87

Options :
| % SAclA-Ielq

) ® Fod - oA

3 % Seld- HRRTT

4 v TEE-FeAT

Question Number : 92 Question Id : 27522810692 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
frrafaf@a 7 & Fia-wr Reey gar & gt a8 2
Options :
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4 % FEE

Question Number : 92 Question Id : 27522810692 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fefofea & & - ey gRur & ot a8 22
Options :

v gaﬂa

, % UHTFRT
3.343'1@“

4 % FEMIE

Question Number : 93 Question Id : 27522810693 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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4 % TR

Question Number : 93 Question Id : 27522810693 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 94 Question Id : 27522810694 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 94 Question Id : 27522810694 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T=fRa 7 7 &a HETE & 39 ‘U FTHAT BT 87
Options :

1.« T FHAT

) T A=A
3 % T FGAAT

4. % T-‘TSFRFIT

Question Number : 95 Question Id : 27522810695 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

‘g W W@ B 99T B wrer 7 27

Options :

1 ® HlAled ﬂhrﬁ:HIrl

5 TR IaHTH



4 'Frﬂ-ilcu qéd—ﬂﬂ

Question Number : 95 Question Id : 27522810695 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

‘g W W@ B 99T B wrer 7 27

Options :

1. ® HH e ﬂhrﬁé-llrl

5 TR IaHTH

;% T T

4 'Frﬂ-ilcu qéd—ﬂﬂ

Sub-Section Number : 2
Sub-Section Id : 275228687
Question Shuffling Allowed : Yes

Question Id : 27522810696 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (96 to 100)



Fif®F 99T F 39F WA &1 98 Je=aF FT Y 2 F 9 TH-UF W
HTTA FY AR FHS AT THY TASHST & HURT T g H ATSHAT
HTeAT T sfogrE forgs # #es | 4 SgeaeRuT 3EE 7 U T4
W g I9e AT F FTT H AF F T G &1 A9 g7 9 9 &
ar g5 TFESET TRt & Sed $r 3aE 9 v § O & g9 39 39
IC T T ¢ e F PeI HTR H U @Hea a9 & 9w’
935 ¥ S @Rl gH Wed g8 9 Rt off wlRa qraw @ 7@ e g
ff| FER I F 39 O 9 F RNEART F 37+= § T3 g+ @R &y
9. ATYGEIET ST IcH ANCSE HH Hfehararsi, 3FRT, 5| g7 #iel-
Aol SAERT T F @ ® gESr H1S (HEYE YFA IHSCAN) F AR F,
3T =7 3EHT 9T OTHET 9% FY STAl @ §AIC ST AT HEHSE g #,
o8 981 oHfEar g Fad &, T A oF 9 3eg 9@ FRIIEthd @
ST 95T & §6 @S #T TS H Algea-fed @ IS H F@ W 9% 1
g S 3¢ gE=w & Fioar # B O s Ster s fr B g
(foar= 33 a2 F @1y &= F1 FEr, Bur= 37 o) a=3at & 38F 91y
Ueilad &09ER) & vy # 3R 3% = #1 W s=or 71 scgear 7
gef? I 3R 59 SW 3es @9 dieardr & Aiaea A9 8, [Sedr aares
TEfd § ¥ AR 3emaa yuEa gl

AT F TGHT WA & Ieal Gifore-



Sub questions

Question Number : 96 Question Id : 27522810697 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

‘STAETT S|l A7 &FF 3R 9T 937 27

Options :
TSAT & AT W

1. # &

, x GFE IS &F HER W
., v OHST 95 &F IR N

4 % TUE & HRR W)

Question Number : 97 Question Id : 27522810698 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
sreaner 7 e &9 &1 ges amam 27
Options :

| % @Sl

2. G
g

3'%-5 o

4 % STEHSH



Question Number : 98 Question Id : 27522810699 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
IS H I H qE FlA-H WA R A g FAT SO Hr Flaar & Fer ofr?

Options :
| % HEOTCH-AET

) ® Hierg-erfea

3 o HTcea- 2T

4. % AT

Question Number : 99 Question Id : 27522810700 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

- vor o Rvw G T ana 87
e ——

2. ¥ m‘__ﬁ-

3 % SRITRT

4 % TEETE TR



Question Number : 100 Question Id : 27522810701 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

e T Bww & wemga Fr adem @ar 22
Options :

|« OMEARI &t

» % Feram-fear

4'\./F»ﬁ7=h_=11?ﬁ

Question Id : 27522810696 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (96 to 100)



Fif®F 99T F 39F WA &1 98 Je=aF FT Y 2 F 9 TH-UF W
HTTA FY AR FHS AT THY TASHST & HURT T g H ATSHAT
HTeAT T sfogrE forgs # #es | 4 SgeaeRuT 3EE 7 U T4
W g I9e AT F FTT H AF F T G &1 A9 g7 9 9 &
ar g5 TFESET TRt & Sed $r 3aE 9 v § O & g9 39 39
IC T T ¢ e F PeI HTR H U @Hea a9 & 9w’
935 ¥ S @Rl gH Wed g8 9 Rt off wlRa qraw @ 7@ e g
ff| FER I F 39 O 9 F RNEART F 37+= § T3 g+ @R &y
9. ATYGEIET ST IcH ANCSE HH Hfehararsi, 3FRT, 5| g7 #iel-
Aol SAERT T F @ ® gESr H1S (HEYE YFA IHSCAN) F AR F,
3T =7 3EHT 9T OTHET 9% FY STAl @ §AIC ST AT HEHSE g #,
o8 981 oHfEar g Fad &, T A oF 9 3eg 9@ FRIIEthd @
ST 95T & §6 @S #T TS H Algea-fed @ IS H F@ W 9% 1
g S 3¢ gE=w & Fioar # B O s Ster s fr B g
(foar= 33 a2 F @1y &= F1 FEr, Bur= 37 o) a=3at & 38F 91y
Ueilad &09ER) & vy # 3R 3% = #1 W s=or 71 scgear 7
gef? I 3R 59 SW 3es @9 dieardr & Aiaea A9 8, [Sedr aares
TEfd § ¥ AR 3emaa yuEa gl

AT F TGHT WA & Ieal Gifore-



Sub questions

Question Number : 96 Question Id : 27522810697 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

‘STAETT S|l A7 &FF 3R 9T 937 27

Options :
TSAT & AT W

1. # &

, x GFE IS &F HER W
., v OHST 95 &F IR N

4 % TUE & HRR W)

Question Number : 97 Question Id : 27522810698 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
sreaner 7 e &9 &1 ges amam 27
Options :

| % @Sl

2. G
g

3'%-5 o

4 % STEHSH



Question Number : 98 Question Id : 27522810699 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
IS H I H qE FlA-H WA R A g FAT SO Hr Flaar & Fer ofr?

Options :
| % HEOTCH-AET

) ® Hierg-erfea

3 o HTcea- 2T

4. % AT

Question Number : 99 Question Id : 27522810700 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

- vor o Rvw G T ana 87
e ——

2. ¥ m‘__ﬁ-

3 % SRITRT

4 % TEETE TR



Question Number : 100 Question Id : 27522810701 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

e T Bww & wemga Fr adem @ar 22

Options :
1. # El;li% [E a;”
» % Feram-fear
3. % E '
4. CIETIC
Disciplinel
Group Number : 6
Group Id : 275228380
Group Maximum Duration : 0
Group Minimum Duration : 0
Show Attended Group? : No
Edit Attended Group? : No
Break time : 0
Group Marks : 20
Is this Group for Examiner? : No
Disciplinel

Section Id : 275228585



Section Number : 1

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 275228688
Question Shuffling Allowed : Yes

Question Number : 101 Question Id : 27522810702 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Find the number of molecules present in 490 grams of H,SO,.
Options :

| % 3.0115% 10

5 % 6.023 x 102
3 « 30.115%10%

4 % 30.115%10%°

Question Number : 101 Question Id : 27522810702 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
490 TMH H,50, H HAisg 30T $F e A Hifaw
Options :



| = 3.0115 x 1019
, % 6.023 x 1023
5 v 30.115 x 1023

4 % 30.115 x 101°

Question Number : 102 Question Id : 27522810703 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Given is a Fibonacci series: 1, 1, 2, 3, 5, 8, 13, 21 and so on. Find the term next to 21 from the recurrence relation.
Options :

1. % 3l

Question Number : 102 Question Id : 27522810703 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

v Ohatar== W (Fibonacci series) &r ?I"é €:11,2,3,5,813, 21 3K SHI Wbl T Haﬂilq?rt ggT o
213 3T T 9¢ AT HIATI

Options :

1 = 31




5 % 32
3 % 33

4.v 34
Question Number : 103 Question Id : 27522810704 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

Ly <&
W2 W2
1 1
=
W2 W2/

Find the determinants of the given matrix?

Options :
1. % 0

bt

Question Number : 103 Question Id : 27522810704 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25



few 71T smemg ¥ AR @2
Options :
1 = 0

2. % %2
3.9 1

4. % 2

Question Number : 104 Question Id : 27522810705 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Two vectors having magnitudes 3 each are parallel in the same direction. What will be the magnitude of the cross
product of the vectors?
Options :
1.¢ 0

Question Number : 104 Question Id : 27522810705 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

Yedek 3 IIATT (magnitudes) ITer &7 BT TF 21 f@em & @A=L g1 gfeert & Fﬁ'&t’ﬂ'ﬂm (cross
product) T TIHTOT T FFT?

Options :

.v 0

Question Number : 105 Question Id : 27522810706 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Consider a particle of mass m is at a distance r from the axis of rotation. When a particle is in rotational motion about an
axis. it has both linear velocity *v’ and angular velocity “®’. Then what will the angular momentum of the particle?
Options :

| % mro

2. % )

3 ¢ Mo

<
4 % mMro-



Question Number : 105 Question Id : 27522810706 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A o & m FeHT & UF FUT YU HET F r g W gl 9 FIg FUT R 7a7 & ofta: goff afa #
2T 8, ar 38 T 8% a7 V' 36K Ffg 397 o' 1A g1 g1 af HUT & ST TS F4T g

Options :
| % mrao

Question Number : 106 Question Id : 27522810707 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the maximum height a stone can attain when it is fired with a velocity of projection 98 m/s at an angle of

projection30°.
Options :

1% 4593 m

) #% 6l.25m

3. ¢ 122.5m

4 % 1633 m



Question Number : 106 Question Id : 27522810707 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

e9quT 0T 30° 9T 98 mis F FEIIUT I F TIY g7 FH Tk TeuT FF fongair HFan F=E urg &
TeRdT 87

Options :
| % 4593 m

, % 61.25 m
;v 1225 m

4 % 1633 m

Question Number : 107 Question Id : 27522810708 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What will be the intensity of magnetism for a magnet having volume “x’ and magnetic moment y’?
Options :

%

% ¥

v
X

x2y?



4. % Y=

Question Number : 107 Question Id : 27522810708 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

HEEE X HR gEh AT Yy 9 gew % AT sy B dgar = gehe
Options :

| x Xy

) v YIX
3 ® xzfyz

4, % yeIx?

Question Number : 108 Question Id : 27522810709 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following statements is NOT true with respect to superconductors?
Options :
When a specimen is placed in a magnetic field and then cooled below its transition temperature for superconductivity,

| = the magnetic flux originally present inside the specimen is ejected from the specimen.

At very high temperatures the resistance of most of the conductors becomes very low, essentiallv zero. And so. the

, % current passes freely through them.This phenomenon is called superconductivity.



3 « The temperature above which a conductor becomes a superconductor is called transition temperature.

4 % The materials that go to super conducting state when above transition temperature, are called superconductors.

Question Number : 108 Question Id : 27522810709 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

=TT (superconductors) & TeY H Fao@a 7§ ¥ Fi9-01 a9 77 76 872

Options :
o frer wiaeel &t gEhT &F 7 @ S1ar § AR O 38 sifamresmar (grestae™d) & fow s
HHAUT A § A= 337 R S g A 7o &9 ¥ gfaey & 3ex Higg g9 sfEEe, gidedy ¥

| % 3cafod g gl

Y =9 IUAE 9T JH Ao (FEFE) F AR g & & S g, @ & ¥ =Tl R
SUIT, 397 ¥ U F9G7 §9 ¥ I g1 3 TREST 1 Hid=reledr Fal S 2|

2. %

3.9
o8 AT & W UF TA6F (F3F), HAwes (YEsH) TF AT ¢ FH HHAVT dAIA Fgl Sl

gl

, x 9 TSI FA FHAUT d9HE § FR g W AfcEes FEEr # 96 I 8, Afaares #gad gl

Question Number : 109 Question Id : 27522810710 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Radar is a device that detects the presence and location of objects. How does the information of the object is received
from the object?
Options :

| Retumn of electromagnetic energy

, % Return of photons

3 % Return of electrons

4 % Retumn of light

Question Number : 109 Question Id : 27522810710 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TR (Radar) Ts UHT 90T § i a&gal $1 3ufafa X T &7 9ar #=mar g1 a5g & a&5g @
FHFRT FH 9T BT 87

Options :

l.dﬁq‘gr—rﬁaﬁ'&rm&m@

2. % wierT T aaEr ¥
3« Folelel ST A9 §

4 % TERTAT F IO

Question Number : 110 Question Id : 27522810711 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

E
[
A B s
e AR I Il . <
r R,
—
i
R 5 |
i, 3 T
[ R3 = R
L AN s A
G Fo o 1=l D

What will be the loop equation for the loop “BCDF’ in the given circuit as per Kirchhoff’s second law?
Options :

| % BRe—(I1-I3)Rs—(I; -3 )Ry =E

2 I_g RG_[_Il_IB }Rj_{Il_IE }R_-i=ﬂ

3 ® BRs—(11-L3))Ry—(I3—13 ) R¢=E

4 % BRs—(I1 ~13)Ry—(I;—13)Rg=0

Question Number : 110 Question Id : 27522810711 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



|

A B C

VYV I | <
. R,
— N
e

B 5 I

; ] R, ot

I R, =T R
L A = M
G Foo 1=t D

fertams & gfad as & seger fow a1 99y 7 &9 'BeoF & fow o9 wfetor F21 g
Options :
1 % BRg—(I1—13)Rs—(Ij—I3 ) R4 =E

2'\;},;I_;Ré—[_I]_—Ig}Rj—{Il—IE}R_i:ﬂ
3 % BRs—(I1 ~L3)Ry—I3—13 ) Rg=E
4 % BRs—(I1 -L3)Ry—(I1—I3 ) Rg=0

Question Number : 111 Question Id : 27522810712 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Find the resistance of a wire of length 1.57 meter and | mm diameter considering 40 x 10°¥ ohm m as the specific
resistance of the wire.

Options :
1. % 0.2 Ohm
> % 0.40hm

3 % 0.6 Ohm



4 « 0.8 Ohm

Question Number : 111 Question Id : 27522810712 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

aX & faftrse 9ferer & § & 40x 108 Ohm HEX (m) T &I F @ H 1.57 HeX d9% 3R 1 mm =AH
I AR & FTR &1 9al 9T

Options :
| % 0.2 Ohm

, % 0.4 Ohm
; % 0.6 Ohm

4.« 0.8 Ohm

Question Number : 112 Question Id : 27522810713 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following scale is not a reduction scale in engineering drawing?
Options :

1 #% L:1



4. % 1:4

Question Number : 112 Question Id : 27522810713 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
freafofa 7 & FiF-a Al (F5e), SfRafeT 597 7 Fgetor AT (F6d) T 87

Options :
1. ® 1:1

R 4 2:1
3 ® 1:2
4 ® 1:4

Question Number : 113 Question Id : 27522810714 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is NOT represented by thin chain lines in engineering drawing?
Options :

| % Irajectory

,  Hidden edges
3 % Centre line

4 ® Lines of symmetry



Question Number : 113 Question Id : 27522810714 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

SSIfaTeT 39T H @0 § ¥ 59 uaell S09 @13 (chain lines) gamT #&T 22/ ST g7

Options :

| % F&TE (Trajectory)

» &9 gu BFaR (Hidden edges)

5
s % %% G (Centre line)

, « TAART [T (Lines of symmetry)

Question Number : 114 Question Id : 27522810715 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What are the recommended d/h ratios for capital letters in engineering drawing?
Options :

1 dl
1 % 5y

11
> % 770

11
s v 1071



Dl
L% 774

Question Number : 114 Question Id : 27522810715 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

SANTATIET S8 & &3 3R (capital letters) & forw smgerf@a d/h segara #4r €7
Options :

L% 1/5 3R 177

5w 17 3R 110
s 1710 3 1/14

4 % 117 #HT 1/14

Question Number : 115 Question Id : 27522810716 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Three capacitors each of 3 pF are connected in series to a 150 V DC power supply. What will be the effective
capacitance and voltage across each capacitor?

Options :
| % 9 pF, 50V

, » PR30V



;% 1pE 150V

4, % 9PF 150V

Question Number : 115 Question Id : 27522810716 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3 pF % e @eIRT 4@ HH & 150 V DC 9 §oeld ¥ 32 gU 81 Todsh @uIiRg T gefrelr amiian
3T Frees F4r g e

Options :

| % 9PF50V

5« 1pF 50V
; » 1pF 150V

4 % 9pF 150V

Question Number : 116 Question Id : 27522810717 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the integration of the given function with respect to x:

Ji3/(1=xH12 + 414x2)] dx
Options :
L 3 Siﬂ_l{x] - Ian_l{x] H



3 Cs:rs_l(:ci + 4 Cot x)+C
3 % 3 SinTHx)+ 4 Cot Hx) +C

3 Ccrs_li:ci +4 tan_l(:n:] +C

Question Number : 116 Question Id : 27522810717 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

X & T H RT 91 Bald 7 FHEaT 79 faw [[3/(1-x2) 12 + 4/(1+x9)] dx
Options :

L » 38in71) + 4 tan"(x) +C

, % 3 Cos™l(x) + 4 Cot™l(n) +C
s % 3SinT1(x) + 4 Cotl(x) +C

, % 3 CosTl(x) + 4 tan () +C

Question Number : 117 Question Id : 27522810718 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Find the dimensional formula for force as it is derived from the fundamental physical quantities.
Options :

1. % MLT™ 1



7 « ML f i
3 % MLTIT

4 % MLT2T

Question Number : 117 Question Id : 27522810718 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

7o % for e g7 o 3R & 97 5 Sifoe ot & sgees g 2
Options :

| % MLTT

5 @ MLT™2
5 % MLTIT

4 % ML72T

Question Number : 118 Question Id : 27522810719 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Find the position of the Fermi level in a p-type semiconductor.
Options :

| = Inthe middle of the forbidden gap



>« Nearer to the valence band
3 % Nearer to the conduction band

4 % Overlapping the conduction band

Question Number : 118 Question Id : 27522810719 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
p-9FR F FU=Tes H AT T fr Ty g Hifew

Options :

1. ® T IRE F AT H
, v TASHAT d & Fie
3 ® T a5 & HT

, = T 85 = Hidearg

Question Number : 119 Question Id : 27522810720 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following are types of air filter used in diesel engines to remove the dust particles present in the air during
the entrance in to the diesel engine?
Options :
|« Dry air type filter



> % Electrostatic filter

;3 % Magnetised filter

4 = Compressed gas filter

Question Number : 119 Question Id : 27522810720 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
SIS S5 A 99U & G g1 A AlSg °F & FUI B g F [ ST T H 3TANT BT A T
v fFeel &1 R AafeeT § ¥ sig-ar 2

Options :

o T & TR fheeT (Dry air type filter)

, » FoEgIEefesw fheex (Electrostatic filter)

- TEehra heey (Magnetised filter)

4 % Tiifea 39 et (Compressed gas filter)

Question Number : 120 Question Id : 27522810721 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

How is the condenser rated for an air-conditioning system?
Options :

| = Total heat absorption



,  lotal heat rejection
5 % Mass flow rate refrigerant in the condenser

4 = Enthalpy of hot gas entering the condenser

Question Number : 120 Question Id : 27522810721 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
TR HEfae Been & o gufay (Fam) 1 Jgeaea 58 G a r g2
Options :

el a1 S0

1. % =

, « TERT (FZAET) H T F T TH NG BT O

Discipline2
Group Number : 7
Group Id : 275228381
Group Maximum Duration : 0

Group Minimum Duration : 0



Show Attended Group? : No

Edit Attended Group? : No

Break time : 0

Group Marks : 20

Is this Group for Examiner? : No
Discipline2

Section Id : 275228586

Section Number : 1

Section type : Online

Mandatory or Optional : Mandatory

Number of Questions : 20

Number of Questions to be attempted : 20

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes

Sub-Section Number : 1

Sub-Section Id : 275228689

Question Shuffling Allowed : Yes

Question Number : 121 Question Id : 27522810722 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which component in a steam turbine is responsible for inereasing the temperature of the steam to above the boiling
point?

Options :

1 % DBoiler

» « Superheater

3 # Economiser



4 % Alr pre-filter

Question Number : 121 Question Id : 27522810722 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
|« Sgert (Boiler)

TIEeT (Superheater)

2.¥ 2

. FEEfET (Economiser)

3.

, x TR dr-fheeT (Air pre-filter)
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Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following elements is doped with silicon to form an N-type semiconductor?
Options :

1.« Arsenic

o % Aluminium

3. % Boron



4 % Indium
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Options :

Question Number : 123 Question Id : 27522810724 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The length, breadth and thickness of a bar magnet are 20 cm, 3 emand 1 cm, respectively. If its magnetic moment is

— i) o . . . .
6x107® Am?, calculate the intensity of magnetisation.
Options :

1 ® 5 Am!

) 0.1 Am™!



3 % 1 Am™!

4 % 10 Am™!
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U ©F Jae HI odTs, dlsts AN Alers FAM 20 cm, 3 cm AR 1 cm §1 Al sHET T Jmepr
6x1070 Am? &, & Taerca @1 Agar Fr 0T H

Options :

| % 5 Am™!

> v 0.1 Am™!
5 % 1 Am™!

4 % 10 Am™]
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Correct Marks : 1 Wrong Marks : 0.25

Which of the following is NOT true pertaining to the dielectric medium used in the capacitor?
Options :

1 # All dielectric materials are insulators

»  All insulators make good dielectric material



3 #% Ceramic behaves as a dielectric medium

4 % The capacitance of a capacitor depends upon the thickness of the dielectric medium used
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Which of the following statements is FAL SEwith respect to soft iron as a magnetic material?
Options :

| % Soft iron is selected as a core material for transformers. chokes, AC motors, dvnamos, ete.



,  The retentivity of soft iron is more than that for steel.

5 » Lhe coercivity for soft iron is less than the coercivity for steel

4 % Steel is used for permanent magnets and soft iron is used for temporary magnets and electromagnets.
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Options :
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| x STdT &l
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4. %
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Find the equation for diode junction current,where:

VT =kT/q: VD = diode terminal voltage, I, = temperature— dependent saturation current, v= Applied voltage, VT = Volt

equivalent of temperature, 11 = empirical constant
Options :

| % Ip=T1—e¥VIMm

5 v Ip=Ip(e™VIN-1)
; % Ip=Ip vI(l—e VIMY)
4 % Ip=TgvIe¥INv=
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SIS ST 9T F T GHEUT AT ST, J8

VT = kT/q; VD = STOTS A aieed, [ = ar#A- @ §gfg Or, v= HIIGeFd grec, VT = di9HT S

aree, n = dwlEs s

Options :
| % Ip=T1—e¥VIm
2 v In=Tp ™V 1M1

; % Ip=Igvi{l—e Vi



4 % Ip=Ipvie¥VIn¥=
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Arode w Cathode

What does the given symbol represent?

Options :
1. % zener diode

o % Tunnel diode

3 Sschottky diode

4 % Varactor diode
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Anode H’l Cathode
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Options :

1% ST ST




» % TAS ETAS

, o YICER TS

4 % NeFeT TS
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Which of the following statements is NOT correct with respect to the operation of the SCR?
Options :

| = Anode is positive with respect to cathode for switching action of SCR

»  Gate can trigger to switch off the SCR.
5 Suitable positive voltage is applied between gate and cathode for switching action of SCR

4 % SCR can be switched off by applying negative voltage to the anode.
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SCR & TeH & @99 ¥ A=ef@g § ¥ S19-91 37 T8 J67 &7

Options :

| = SCR #r f&af¥er frar & Aw Fuis & g9y J vAE 9acAs & gl




, v SCR & &g (switch off) =¥ % T T (Gate) TR X FehaT ¢

. « SCR & RafEfr fFam & A @iz 3R Feis & 9 39g70 uacns dloee HagFd o S B

L % TAlS T HUNcHE Aot o9] wi&h SCR I 95 (switch off) fFam = @erar g
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Find the correct relations between a (Io/Ig) and B (Io/Ig) in case of a common emitter transistor.

Options :

| ® 9= pp—1
) v 4=PBl
3 % G=p-LPp

4 0=prLp
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T HTHEE 38 Sierieel & AT H o (/103K B (I/lp) & &9 T8 I9g TS|
Options :
| ® = EIB il




) @ @ = BB +1
3w @ =y E=1i
4 % @ = B+1/B
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Identify the tvpe of saw in the figure.
Options :

1 # Hack saw

, % Coping saw

3 # Dove tail saw

4.« Bow saw
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HFIT H J & TR H TgA=T|
Options :

|« &% A (Hack saw)
, % ST 3T (Coping saw)
; % B9 ¢ 3T (Dove tail saw)

L IS AT (Bow saw)
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Which of the following statements is NOT true regarding the power supply for arc welding?
Options :

| = DBothdirect current (DC) and alternating current (AC) are used for electric arc welding.

DC welding supply is usually obtained from generators driven by an electric motor or by an internal combustion

, % engineif no electricity is available.



Where the main electricity supply is available, they have to step down the usual supply voltage to the normal open

3 Circuit welding voltage, 90-150 volts.

Where the main electricity supply is available, they have to step down the usual supply voltage to the normal open

4 % circuit welding voltage, 50-90 volts.
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Options :

| HegE = 3fes F e fose orr (DC) AR TS URT (AC) AT F TR A e g
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SET & Bl 3mgfa (main electricity supply) 39 8, 372 @0fda amqfd deds & T 5154
, v B AT HOF Fiee afese dees, 90-150 Jee I& o AT grem|

g H&T fa=relr 3mqfa (main electricity supply) 39eed §, 3=¢ @affd amfa aeest & 89 3134
, » T THAET 39 Tiehe Afese aeesr, 50-90 aeT T& o FATT M|
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Which of the following units does NOT play a role in the feed mechanism of a Lathe machine?
Options :
1.+ Tailstock

, % Feed gear box
3 % Lead screw and feed rod

4 % Apron mechanism
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T=fof@a # & #a-30 8 & we 7T (3w 72fw) F $ defben J gqffw 787 Ferd g2
Options :

| v SorEeies (Tailstock)
, » W8 BT a7 (Feed gear box)

3 % I = 3T Bz Ts (Lead screw and feed rod)

, » I HHAH (Apron mechanism)
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Which of the following statements is NOT true for a set hammer?
Options :
| = Itis generally used in forging shops.

» w Itisused for finishing corners in shouldered work where the flatter would be inconvenient.
3 % Itisused for drawing out the gorging job.

4  1tisused for producing rivets heads in parts.
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F=af@a # ¥ Fila-91 Faa AT 287 (set hammer) & T e a8 22

Options :

- TE HHAAR T BT T gl H 39AT BhaT 1T gl

, x TE 39T efesT & HT A Pl B TRHeT &g a1 a1 § ST el HYaesias grem|
s % SEH FUAE AT e e F v B s g

, v FEF 39T 9EE # REe 83 99 & v fear s 2
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Which of the following statements is NOT true for errors in measurements?
Options :
| = Static error is defined as the difference between the measured value and the true value of the quantity.

,  Absolute value of error indicates the accuracy of measurement.
; » Relative static error is the ratio of absolute static error to the tine value of the quantity under measurement.

4 % Static error correction is the difference between the true value and the measured value of the quantity
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Correct Marks : 1 Wrong Marks : 0.25
A moving coil instrument of resistance 400 £ gives a full-scale deflection of 50 ma. What will be the value of the shunt
for the meter to measure current up to 20.05 A?
Options :
| ® I mQ

, % 0.1Q

3.0 18

4% 10Q
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gferier 400 (O JTT T HGT Fiee sEgHE 50 ma HT JUI-Fhdl [FaT90T &ar g1 20.05 A T 4RT #A9=
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Options :
[ w1 mQ

, % 01Q
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Which of the following CANNOT be a cause for creeping in an energy meter?
Options :
~ Eddy current

1
» % Over compensation for friction

5 % Excessive voltage across potential coil

4 % Stray magnetic field
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Which of the following AC bridges is used for the measurement of dielectric loss and power of an unknown capacitor?
Options :
| v Schering bridge

) % Mazxwell bridge
3 % Anderson bridge

4 = Kelvin bridge
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Options :

1.« ﬂﬁﬁﬁ?{

, x Hegad B

3 % vsiaa o

4 % iead o=
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Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

Which of the following logic gates are called universal logic gates?
Options :
% OR and ANDgates

l.
»  NOR and NAND gates
;3 % XOR and XNOR gates

4 » ORand NOT gates
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T=E F ¥ Fi9-g Fies 9T & IfAa0d diee T FHal A 82
Options :

| = OR 3T AND 71ed

, » NOR 3t NAND #zw

5 » XOR 3 XNOR dicq

, » OR 3R NOT #rew
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Which of the following symbeols is used to join two parts of a program?
Options :

LT 4

O

O
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T R B

QO
O



anle
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How much is the forbidden energy gap of a diamond?
Options :

1. # 0.5 ev

, % Quite large
3 % 1.1eV

4.« 5.5¢eV
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What does the given symbol represent in electrical circuits?

Options :
1. # Rewireable fuse

, % Cartridge fuse

3 « Neutral link
4 = Earth point

Question Number : 141 Question Id : 27522810742 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

N
foega oy & fGar o v Far gefar 22

Options :

% I a3 T (Rewireable fuse)

, % FIfe w1 (Cartridge fuse)

L o T forr (Neutral link)



, x HI EEC (Earth point)
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LEDs are used in which of the following types of alarm systems?
Options :

| Buiglar alarm system

» & LDR alarm svstem
3w Power surge alarm system

4 % UPS alarm system

Question Number : 142 Question Id : 27522810743 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
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o 7 o &g v & 3oy RAreg & vassr (LEDs) &1 3uaer f&Far s 272

Options :

| v TR I s

, » TIEIHW (LDR) zremd fawew

;% IR T 3o AR



Tfew (UPS) 3=mH fawew

4, % =
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Which of the following symbels represents a signal lamp?
Options :

el
1.¥ ™

TI®.
==
3,08 L=
S
4. ® \ﬁ\“f):::/}
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Options :

Vel
1. ™



Question Number : 144 Question Id : 27522810745 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A hall of size 10m by 12.5 m is to be illuminated with 75 lux. If the lamp efficiency is 25 lumens/watt, utilisation factor
is 0.8 and candle power depreciation is 25%o, then the total wattage required is:

Options :

Question Number : 144 Question Id : 27522810745 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
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10 mx 12,5 m TR F TF gt 1 75 lux T Férea forar s g1 ofe #f9 gavar 25 sgaa/ae g, 39ae
0T 0.8% AR F3F AT FATURH 25% 8, A HETF T Areal A =T

Options :




|« 46,875
, x 37,500
. % 9,375

, v 1,875

Question Number : 145 Question Id : 27522810746 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the equation of pressure head (h) of a liquid, where:

h = the height of the column of the liquid, P, = pressure, p = density of the liquid, g = acceleration due to gravity.
Options :
v t=Fipxg

) ® h:Psxg_: g
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& g3 & g MY (h) F1 gHEoT A9 fifse, F=n

h =33 % &9 # 3918, Ps = &, p = §F &I Odcq, g = Iocard 0T &l
Options :
Lo h=Pdpxg

2.33;‘?=F’59<gfp
3‘wh=p>¢gf|:'5

4'wh=|353<p;"g
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Which of the following power generating systems has compressor and regenerator as the major components?
Options :

| = Thermal power plant

» % Diesel power plant
3« Gas turbine power plant

4 % Wind power plant
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Correct Marks : 1 Wrong Marks : 0.25
freafaf@a & & 5w /=@l scaea Jomelr (power generating systems) & YHE 9% & §T H AT
AR foeiex g 82

Options :

| % mﬁmr—ra ppiE

5 % BT IR TIS

3‘\?# 53

LY L
4 % TIHA FAT FIS

Question Number : 147 Question Id : 27522810748 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
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Correct Marks : 1 Wrong Marks : 0.25
Identify the INCORRECT statement connected with the turbine for hydel power plant.
Options :
A penstock is a huge steel pipe which carries water from the reservoir to the turbine. Potential energy of the water is

| = converted into kinetic energy as it flows down through the penstock due to gravity.
w Water from the penstock is taken into the water turbine.

The turbine is mechanically coupled to an electric generator. Kinetic energy of the water drives the turbine and

5 % consequently the generator gets driven.

4  lmpulse turbines are used for low and medium heads and reaction turbines are used for large heads.
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Identify the conventional source of energy from among the given options.

Options :
1 % Wind

> % Solar

3 Natural gas



4 % Biogas
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Options :
1% e

2_23?%{

3.%?,91??"1?-'43:?1?

4. % mfﬂ:r

Question Number : 149 Question Id : 27522810750 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following statements is NOT true for the cooling arrangement in thermal power plants?

Options :

| % Water is drawn from a natural source of supply such as a river, canal or lake and is circulated through the condenser.

, % The circulating water takes up the heat of the exhausted steam, and it becomes hot.

3 % This hot water coming out from the condenser is discharged at a suitable location down the river.



4 During the scarcity of water in the river. hot water from the condenser is passed on to the atmosphere.
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Calculate the energy stored in the circuit, where three capacitors 20 uF, 25 uFand 35 uF are connected in parallel across
200V supply.

Options :

1 ® 0.168 Joules

> % 0.336 Joules



3 % 0.8 Joules

4 « 1.6 Joules

Question Number : 150 Question Id : 27522810751 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

UF 9T F TIET FaT T e 1, fogH 20 pF, 25 pF 3T 35 pF fr erEar e 8 Fufier
(FE) AR %A # 33 8, AR et amgfa 200V g

Options :

| 0.168 5=

, « 0.336 &

R

Question Number : 151 Question Id : 27522810752 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Calculate the value of current flowing in a circuit having a charge of 50 mC transferred between two points in a time of

20 ms.
Options :
| % 0.4 amps



) 2.5 amps
3 % 10amps

4 % 25amps

Question Number : 151 Question Id : 27522810752 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
20 ms 3 HHT H & Fag3T 3 T TAATAN 50 mC 3 H2r aTer IR # FaTed [Hega oy &l A TR oa |

Options :
| » 0.4 amps

, ¢ 2.5 amps
5 » 10 amps

4 % 2D amps

Question Number : 152 Question Id : 27522810753 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following theorems indicates that*one current source is considered at a time. and other sources are
replaced bv their internal resistances’?

Options :

| ® Norton’s theorem



> % Thevenin’s theorem

3 Superposition theorem

4 % Maximum power transform theorem

Question Number : 152 Question Id : 27522810753 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
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Question Number : 153 Question Id : 27522810754 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Find the STAR connection resistances from the given DELTA connection.
Options :

| » RI=3QR2=30QandR3=10

) % RI=150R2=200andR3=25Q

3¢ RI=1I5Q. R2=30Q andR3 =100

4 % RI=25Q R2=15QandR3 =200

Question Number : 153 Question Id : 27522810754 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :



 «R1=50,R2=303RR3=10

,x R1=150, R2=200 3R R3 =250
;o R1I =150, R2=300 3R R3 =100
,« R1 =250, R2=150 3R R3 =20 0

Question Number : 154 Question Id : 27522810755 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A coll of power factor 0.8 is in series with a 200uF capacitor and the combination is put across a S0Hz supply. The
potential across the coil is found equal to that across the capacitor. Find the Impedance of the capacitor and the
resistance of the coil

Options :

1. % 31.84Qand 9.54 O

o # 1591 Qand9.54Q

3 % 31.84Qand 12.728 Q
4 1591 Q, and 12.728 O

Question Number : 154 Question Id : 27522810755 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



AfFa I[uTH 0.8 F TF FIa (Figer), 200puF Tl (FafHew) F wry 4ofien & 7 3R 50 w3 A
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Options :
| % 31.84 0 3T 954 0

, % 15.91 0 3T 954 0
; % 31.84 0 3T 12,728 O

L v 1591 0, 3R 12.728 0

Question Number : 155 Question Id : 27522810756 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is NOT true for a wave winding armature in DC generator?
Options :

| Number of parallel paths is equal to the number of poles

» % Average pitch, Ya= Yb+ Y /2=7+2/P

3 % Back pitch is equal to front pitch Yb=Y{

4w Commutator pitch, Ye=number of segments+1/ number of pairs of poles

Question Number : 155 Question Id : 27522810756 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

DC Sa¥ex (Sfas) # aT Fsaiat A= & v e 7 & a7 wer 7 872
Options :
v TATAT 92T (parallel paths) FT FET E.J:Eﬁ' & g & syEY g 2

1

) % AHtaa g (Average pitch), Ya= Yb+ Yf /2=Z+2/P

s w GTed AT (Back pitch), H-HaI (front pitch) & FTET BT § Yb=¥f

w feeafEas aua (Commutator pitch), Ye= @l #T mﬂlj%ﬂﬁ' = ﬂJdd—fT $r g

4

Question Number : 156 Question Id : 27522810757 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Rsh

What is the type of DC generator shown in the given figure?
Options :



| % Series generator
, % Shunt generator
5w Short shunt compound generator

4 « Long shunt compound generator

Question Number : 156 Question Id : 27522810757 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Rsh
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Options :
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Question Number : 157 Question Id : 27522810758 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A 4-pole generator having a simplex wave wound armature has 48 slots, each slot containing 30 conductors.What will
be the voltage generated in the machine, when it drives at 1000 RPM assuming the flux per pole to be 5 mWb?
Options :

1% 120V

, % 180V
3 @ 240V

4. ® 357V

Question Number : 157 Question Id : 27522810758 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

U 4-gS Feel TSEH Teur gt FEfoa HHER H 48 e (@) g, Yedw Tee # 30 #saed gl
afg 7= 1000 RPM R =rardr &, 3R 91 F Tored 5 mWb 3T g, o #efid 7 3c9ea dlocs
FaT grem?

Options :
| % 120 V

, % 180 V



3w 240 V

4 % 357V

Question Number : 158 Question Id : 27522810759 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Find the torque in kg meter developed by the armature of a 6 pole wave wound DC motor having 400 conductors, 40 m
web per pole when the total armature current is 30 Amp.

Options :

| % 1440 Kgm

, % 480 kgm
3 % 69.984 kgm

4w 23.328 kgm

Question Number : 158 Question Id : 27522810759 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

U 6 AT LT FHIeA HH=R TorHH 400 HIFX §, Fol HH= ORI 30 Amp & T Fia g 3 40
m ¥, TERT Feefda Mo kg AeX & AT

Options :

| = 1440 Kgm

, » 480 kgm



. » 69.984 kgm

4 v 23.328 kgm

Question Number : 159 Question Id : 27522810760 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is the name of the peak anode current that an SCR can handle for a short duration?
Options :

| % Latching current

, % Holding current
3 Surge current

4 % Trigger current

Question Number : 159 Question Id : 27522810760 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

FH I & T SCR IR W< T H+ 98 6T TAIS oy &4 72

Options :
L% 3T 9T (Latching current)

, » Y 9RT (Holding current)



3 YIceRY 9T (Surge current)

4 % gads ORI (Trigger current)

Question Number : 160 Question Id : 27522810761 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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What type of converter is shown in the given figure?

Options :
1 % Half-wave controlled rectifier

) % Semi converter
3 « Full converter

4. % Dual converter

Question Number : 160 Question Id : 27522810761 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 161 Question Id : 27522810762 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following statements is NOT true for the three-phase inverters?

Options :

| Athree-phase inverter can be obtained from a configuration of four transistors and four diodes.

, % Three-phase inverters are normally used for high power applications.

The frequency of the output voltage waveform of a three-phase inverter depends on the switching rate of the switches
5w and hence can be varied over a wide range.

The direction of rotation in a three-phase inverter of the motor can be reversed by changing the output phase sequence
4 % ofthe inverter.



Question Number : 161 Question Id : 27522810762 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
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Question Number : 162 Question Id : 27522810763 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following statements is FATL SE for the class C conmunutation?

Options :

| » In the comumutation method, the main SCR which is to be commutated is connected in series with the load.

» « Inthe commutation method, SCR turns OFF with a reverse voltage of a diode.

5 % Lhis commutation is mainly used in single-phase inverters with centre tapped transtormers.



4 % TIhe McMurray Bedford inverter is the best example of a class C comumutation circuit.

Question Number : 162 Question Id : 27522810763 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 163 Question Id : 27522810764 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is true for a salient pole rotor of a three phase alternator?
Options :

| » Rotor has no projectile pole

, % Rotor causes no speed fluctuation



5 % NNoneed for damper winding

4 Alr gap is non-uniform.

Question Number : 163 Question Id : 27522810764 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 164 Question Id : 27522810765 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Determine the speed at which a 4-pole synchronous generator should be driven to get a frequency of 60 Hz.
Options :

1. % 7200

5 % 3600



3« 1800

4 % 1200

Question Number : 164 Question Id : 27522810765 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
U 4-4d Jedsdifes Ale # fHw Ae 9T FeE § 60 Hz #1 amgfea 9 g Hendr 872

Options :
| % 7200

, % 3600
3« 1800

4 = 1200

Question Number : 165 Question Id : 27522810766 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Hydrogen is used for the cooling of turbo-alternators. What pressure should be maintained at certain for this hydrogen?
Options :

| = Slightly below the atmospheric pressure

» % Same as the atmospheric pressure

3 Slightly above the atmospheric pressure



4 % Atseaatmospheric pressure

Question Number : 165 Question Id : 27522810766 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 166 Question Id : 27522810767 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following methods is NOT used for starting the three-phase squirrel cage induction motor?
Options :
At the time of starting, full resistance is connected in series with the stator winding and it is gradually decreased as the
| % motor speeds up.



A three-phase step-down transformer with different taps is provided that permit the user to start the motor at, say, 50%,

, % 05% or80% of line voltage.

SCR is connected to the starter winding at the start to limit the starting torque and then get isolated from the circuit

3  during the mun.

4, ®
A two-way switch is used to connect the stator winding in star while starting and in delta while running at normal speed.

Question Number : 166 Question Id : 27522810767 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 167 Question Id : 27522810768 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What should be the resistance between the consumer’s earth terminal and the Earth Continuity Conductor as per IE

rles?
Options :
1« Less than 1 Ohm

> % Between | Ohm and5 Ohms
3 # Between 5 Ohms and10 Ohms

4 % More than 10 Ohms

Question Number : 167 Question Id : 27522810768 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

IE TAT & 3R susiledr & ¥y effeaer HR 3T g FEax & O gioky fosaer g anfge?
Options :

| ¢ 1 Ohm & &5

, » 1 Ohm 3R 5 Ohms & &=
; » 5 Ohms #HRX 10 Ohms & &=

4 ® 10 Ohms @'Eﬁiﬁ



Question Number : 168 Question Id : 27522810769 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What is the name of the typical instrument that can detect electrostatic fields set up in the vicinity of the conductor
energised by AC voltage (22 to 66 kV and 33 to 275 kV)?
Options :
| = Tong - live line indicator

7 « Metric- live line indicator
;3 % Spark - live line indicator

4 % Miser - live line indicator

Question Number : 168 Question Id : 27522810769 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 169 Question Id : 27522810770 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What action should be taken immediately in case the oil temperature of a transformer rises unduly in a substation?
Options :

;= The cooling fan should be switched on continuously.

, % The temperature should be monitored till alternate arrangement is made.
5 % Lhe matter should be reported to the highest authority.

4  Ihe transformer should be put out of service immediately.

Question Number : 169 Question Id : 27522810770 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 170 Question Id : 27522810771 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What is the major cause of the instability of alternators?
Options :

|« Excessive capacity load

» % Short circuit in the field winding

3 % Short circuit in the armature winding

4 % Variation in load

Question Number : 170 Question Id : 27522810771 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 171 Question Id : 27522810772 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following systems does NOT use servomechanism feedback in the control system?
Options :

| % Machine tool position control

> % Missile launcher
3« Speed governor

Power steering for an automobile

Question Number : 171 Question Id : 27522810772 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 172 Question Id : 27522810773 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Find the Laplace transform of ™% Cos wt.
Options :

Y 2
| % W=/(S +a)+ 02

w (3+a)(S+ a)? + 02

2.
; % (@+a)(S+ a)? + o2
4 % ®/(S + u}z + @2

Question Number : 172 Question Id : 27522810773 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

e~ Cos ot F ey TaI0T AT F
Options :
L% 02l(S + ) + 02

, o B8+ (S + ap + 02

3 % (o + a)(S + -:1)2 + 2



4 x OfS + a)? + ®2

Question Number : 173 Question Id : 27522810774 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

AT
R L

Vil c= Vel

Find the transfer function for the given system.
Options :

| % G(s)=RCs/LCs* +RCs+ |

, % G(s)=LCs*/LCs* +RCs + 1

; % G(s)=LCs/LCs* +RCs+ |

, v G(s)=1/LCs? +RCs + |

Question Number : 173 Question Id : 27522810774 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

Lx G(s) = RCs / LCs? + RCs + 1
ox G (8) = LCsZ / LCs? + RCs + 1
;% G(8) = LCs / LCs? + RCs + 1
4 v G (s)=1/LCs?+ RCs + 1

Question Number : 174 Question Id : 27522810775 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What type of strain gauge transducer is made of a thin wire of diameter varying from 0.02 to 0.04 mm cemented in a
zig-zag pattern on a thin flat paper?
Options :
|« Bonded strain gauge

, % Unbonded strain gauge

5 % Foil type strain gauge



4 % Semiconductor strain gauge

Question Number : 174 Question Id : 27522810775 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 175 Question Id : 27522810776 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
LVDT is widely used to translate linear displacement or motion into an electrical signal. What type of transducer is
applied in IVDT for itsoperation?
Options :
| % Capacitive type transducer

» « Induction type transducer



5 % Resistive type transducer

4 w Strain gauge type transducer

Question Number : 175 Question Id : 27522810776 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 176 Question Id : 27522810777 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following statements is NOT true for the inductive proximity sensor?

Options :

| % Itis asolid-state switch based on the principle of high frequency electromagnetic induction.

, % There are no moving paits inside the device.



;3 % The device offers a switching action without any spark.

4.+ It is not suitable for PLC control circuits.

Question Number : 176 Question Id : 27522810777 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 177 Question Id : 27522810778 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which type of transducer is suitable for measurement of high pressure that changes rapidly and vibrations?
Options :

1« Piezoelectric transducer

> % Hall effect transducer



3 % Chemical transducer

4 % Inductive transducer

Question Number : 177 Question Id : 27522810778 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 178 Question Id : 27522810779 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What is an ideal form of organisation for small scale and medium size businesses, where there is a limited market,
limited risk of loss, limited capital. and limited specialisation in management is needed?
Options :
| = Private Limited Company



, % Limited Liability Partnership

3 % Society or Trust

4  Partoership firm

Question Number : 178 Question Id : 27522810779 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 179 Question Id : 27522810780 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is a major criticism of scientific management?
Options :

| v lgnorance of human factor



, % lgnorance of quality factor
5 % lgnorance of time period factor

4 = lgnorance of cost factor

Question Number : 179 Question Id : 27522810780 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 180 Question Id : 27522810781 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Define the term “deflator’ for productivity used in industrial management.
Options :

| % Deflator = Current year price/ Previous year price



, « Deflator = Current year price/ Base year price

5 w Deflator = Base year price/Current year price

4 % Deflator = Base year price/ Previous year price

Question Number : 180 Question Id : 27522810781 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 181 Question Id : 27522810782 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is NOT applicable for Six Sigma?

Options :

| ® Six Sigma strategies are applicable to any product, process, transaction and service.

Companies have been able to have as few as 3.4 defects in a thousand opportunities to make defects. This is called as
»  Six Sigma quality

5 % Process variability must be so small that specification limits are 6 standard deviations from mean.



4 % TIhe Six Sigma projects have eight essential phases. The cycle is sometimes expressed as DMAIC.

Question Number : 181 Question Id : 27522810782 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 182 Question Id : 27522810783 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is the voltage limit for an indoor substation?
Options :

1% 11KV



4 % 66KV

Question Number : 182 Question Id : 27522810783 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
| % 11 kV

5 % 22 KV
3 v 33 kV

4 % 66 kV

Question Number : 183 Question Id : 27522810784 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following gases is used for the protection of high voltage switchgear in gas-insulated substations?
Options :

| SF6

» % Nitrogen

3 % Ammonia

4 % Carbon monoxide



Question Number : 183 Question Id : 27522810784 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
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Question Number : 184 Question Id : 27522810785 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is the configuration Alternating current power supply in secondary distribution?
Options :

w Three phase, three wire 3.3 KV AC

1.
, % Three phase, four wire 3.3 kVAC

3 % [lhree phase, three wire 400/230 V AC

4  Three phase, four wire 400/230 VAC



Question Number : 184 Question Id : 27522810785 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

|« @ %, de a9 3.3 kV AC

, % @ B, I arX 3.3 kV AC
, » A %, d aR400/230 V AC

, » @ T, IR aR400/230 V AC

Question Number : 185 Question Id : 27522810786 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is NOT an essential feature of switchgear?
Options :

| = Complete reliability

, % Absolutely certain discrimination

3  Delay operation

4 % Provision for manual control



Question Number : 185 Question Id : 27522810786 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 186 Question Id : 27522810787 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What happens to arc resistance in a circuit breaker when cross section of the arc decreases?
Options :

|« AIC resistance increases

o # Arc resistance decreases

3 % Arc resistance does not change

Arc resistance disappears.



Question Number : 186 Question Id : 27522810787 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 187 Question Id : 27522810788 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following statements is FAT SEwith respect to MCB?

Options :

| = To protect against fault arising due to over heating or increase in temperature, a bi-metallic strip is used with MCB.

»  MCBs are generally designed to trip within 2.5 seconds when an over current fault arises.
;. w Incase of temperature rise or overheating, it may take 2 seconds to 2 minutes for the MCB to trip.

4 % Inorder to restart the flow of current the MCB is manually turned on.



Question Number : 187 Question Id : 27522810788 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

MCB & Ty # fAmafai@d § & Hid T HU= 7od 87
Options :
MCB # 93&d U& gfa-uifcas 981, A#faardsr ar ama= 7 g & FR0T g1 aTe Hloe & L& 9
. HT gl
1. %

MCB 0 o7 ® fBomsa v aa § & 31f5umy wiee g9 & Teaf@ & & 79 25 oz & ToEiRg
, v (&) & s &

3. %

?mﬂﬁqﬁ'maﬂﬁﬁmﬁ#ww MCB F R (W) 9 & 2 ¥9s ¥ 2 BT 5% @7 5T o
|

4. % ww¢mﬁmﬁaﬁm#%ﬁMCBaﬁm@ﬁgmm%l

Question Number : 188 Question Id : 27522810789 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following statements is NOT true for the solid grounding or effective grounding system?
Options :
Neutral point of a 3-phase system (e.g. 3- phase generator, 3-phase transformer etc.) is directly connected to earth (1L.e.

| = soil) through a wire of negligible resistance and reactance.



The solid grounding results in heavy earth fault currents. Since the fault has to be cleared by the circuit breakers, the

» % heavy earth fault currents may cause the burning of circuit.
3« Solid grounding is usually employed where the circuit impedance is very low.

4 % This system of grounding is used for voltages up to 33 kV with total power capacity not exceeding 5000 kVA.

Question Number : 188 Question Id : 27522810789 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 189 Question Id : 27522810790 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Which of the following devices is widely used in control systems for transmitting shaft position information or for
making two or more shafts run in synchronism?

Options :

1 % Inductive transducer

»  Synchro
3 % Universal motor

4. ®% Servo motor

Question Number : 189 Question Id : 27522810790 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 190 Question Id : 27522810791 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

What is the purpose of a linear induction motor?
Options :
1. # Rotational motion

2 « Rectilinear motion

3 % Oscillating motion

4 % Reciprocating motion

Question Number : 190 Question Id : 27522810791 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 191 Question Id : 27522810792 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

How is the stator winding of the two-phase AC servomotor constructed?
Options :

| % Solid winding with thick conductors

, % Solid winding with thick conductors with external resistance for control

3 « Iwodistributed windings are displaced from each other by 90 electrical degree

4 % Three distributed windings are displaced from each other by 120 electrical degrees.

Question Number : 191 Question Id : 27522810792 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 192 Question Id : 27522810793 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

What is the more serious disadvantages with PMDC motor
Options :

| % Lowvoltage PMDC produce more air noise

» % PMDC produces accountable TV and radio interference
;3 % lemperature in PMDC motor tends to be higher

4  Permanent magnets in PMDC can be demagnetized by armature reaction mmf.

Question Number : 192 Question Id : 27522810793 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 193 Question Id : 27522810794 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

What is the range of wavelengths that can produce the sensation of sight?
Options :

| % 2000AU to 4000 AU

» % 4000 AU to 5500 AU
3 % 2000 U to 5500 AU

4 « 4000 AU to 7500 AU

Question Number : 193 Question Id : 27522810794 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
| % 2000 AU & 4000 AU

, % 4000 AU & 5500 AU
; % 2000 U & 5500 AU

, v 4000 AU & 7500 AU

Question Number : 194 Question Id : 27522810795 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



What is the working principle of induction heating?
Options :
1 # Resistance

, % Electromagnet

3.« Transformer

4 % Electrostatic

Question Number : 194 Question Id : 27522810795 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 195 Question Id : 27522810796 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Which of the following is NOT true for pantograph collectors in the track electrification system?
Options :

It can operate in either direction of motion. Its height can be increased or decreased by simple operations from the
| % drivers’ cabin

, % Risk of jumping off the collector is minimum

5 » Erection of overhead network is simple.

4  1ts height can neither be increased nor be decreased

Question Number : 195 Question Id : 27522810796 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 196 Question Id : 27522810797 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The illumination in a drawing office 30 m * 20 m is to have a value of 250 lux and is to be provided by a number of 500

W filament lamps. If the coefficient of utilisation is 0.5 and the depreciation factor 0.8, determine the number of lamps

required.

Note: The luminous efficiency of each lamp is 15 lm/W.
Options :

1 ® 25

2.¢ 50

Question Number : 196 Question Id : 27522810797 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TF 30 m x 20 m & T FHF F H FAIT &7 AT 250 lux 2= 2, 57 3T 500 W &F Themde o9
ganT Serd foRar ST g1 afE 3937 Iones 0.5 § 3R 3Eery Fe 0.8 g a6 WEeTes oful 1 wE
fFuia #7

AT IAF AT F ST @I 15 Im/W gl

Options :
| % 2B

7 « B0



3 % 65

4. % 95

Question Number : 197 Question Id : 27522810798 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following practices will NOT result in saving energy?

Options :

| % Installation of Compact Fluorescent Lamps (CFL's) in place of incandescent lamps.

, « Installation of mercury / sodium vapour lamps in place of metal halide lamps.

5 w Installation of LED panel indicator lamps in place of filament lamyps.

4 % Installation of High Pressure Sodium Vapour (HPSV) lamps for applications where colour rendering is not critical.

Question Number : 197 Question Id : 27522810798 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 198 Question Id : 27522810799 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following CANNOT be part of energy audit report?
Options :

| = Production process and description

, % Energy and utility system description
;. » Energy conservation options and recommendations

4  Penalty on performance and rule breaking

Question Number : 198 Question Id : 27522810799 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 199 Question Id : 27522810800 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What should be the minimum breaking strength of a guarding wire as per IE Rule 887
Options :

| = 6.3502kg

, % 63.502kg

s v 635.02kg

, % 6350.2kg

Question Number : 199 Question Id : 27522810800 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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| » 6.3502 kg

, % 63.502 kg



. » 635.02 kg

, » 6350.2 kg

Question Number : 200 Question Id : 27522810801 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following statements is NOT entirely true for KILOVAR control for power factor improvement?
Options :
KIIL. OVAR controls are used at locations where the voltage level is closelv regulated and not available as a control

1. % variable.

KILOVAR control requires two inputs - current and voltage from the incoming feeder, which are fed to the PF

» % correction mechanism. either the microprocessor or the relay.
;3 % Lhe capacitors can be switched to respond to a decreasing power factor as a result of a change in system loading.

4  Ihis type of control not is used to avoid a penalty on low power factor.

Question Number : 200 Question Id : 27522810801 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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